9.1 uelalaull sed g ?

[renellBotl, 24Ul 212061 HiRR1ML 6% s uglalail (Algebraic Expressions)-l uRux
Hoedl .

Gelsm :

x + 3,20 — 5, 3x% dxy + 7 R

df gl il uslaldil oididl sl dd oLl 91 5 g5 uslald A A vAAA
ALl MO 9. 2r + 3L AL x 2 VAL 2 Vi 3 O wUL dyy + THL UA x,
W AL 4, 7 0.

auil, >0usl i uel el Sl 5, uelalemi eal Adsdl Bad 515 ue €1 as,
gl 23U uelald-dl Bud uel sedldl 28, Gelgal dils, ueldld 2y — 5 w2 A
d, A y=2dl2y—5=212)-5=(-1),y=0dl 2y — 5 =2(0) =5 = (-5) Q3.

i, A4 peil (Bud oledld dl dn 23w ueldld 2p — S5el Bod u olea.
dl ed, yeil = Budl dadq uelald 2y — 5+ [@@n Bud Haadl wuct s
AvURVUL GIRL %A
AvaRvil U Aet xeil [Afn Bodl we velaldsdl Bud 9 €15 a8 d a1edl »uusl

veldld x + 54 Gelgel A,
X ><<—5—>

L >
T g

X P

GuRisd gl uel vad 20d 8 5, Ad xd @ X Bu 8 dl dd 23y velald x
+ 5+ 2wl P GuR o9l 2ald, X [Bigadl 5 2isi onell drs. vl o Ad uslal x —
4 W2 QAR dl X 9l 4 2154 6l des M. %l veldld 4x + 5 HIZ2 dSul dl, AluaH
4o 2 QMG 529 U8 2 AR ole 4x + S 2l MBI 3 asi,

[l 2N

BuRAsd HiglaHl AS Asld B 3, % Ad 2@ [Blg X uR MBI s3> dlL 4x e [Blg
C R 27 uelald 4y + 5 et [Blg D ur YRGB 2l Gulsd oid gl Aa-l o
Bud el 8. 2ald x> 0 8. 20wl x < 0 ald 8ol BHd w2 wa @3 adi,

U5

9
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YU 53

1. 215 A4 42Aadl QA uelaldql wia Gelswl Ul
2. 6 Y yAddl (AR uelaldql via Gelswl il
3. AL BUR x, x — 4, 2x + 1, 3x — 2 sldl.

= 02 ug, AU HA USRS (Terms, Factors and Coefficients)

UEldld 4x + SHL 4x 2l 5 2 6L el 9. ed & ueld 4+ 5 ‘= ad sl uelald
HOL 9. B Ue Uid Ul 6L 5 dell Y 2addl-l dRUSIR SIS Ad. ], ue dx A 4 A
xell QLRSI B, UM, 4 Al x L dxeil AU ol dal 5 ¥ AlAs ue 6.

uelal@ 7xy —5x WL 7xy we —5x M 6L U 9. U Txpy ¥ 7, x Ay WH o9
UL ORISR 8 FHL UMUS Haudd -d Ueddl ABUS USRS AL USRS
sl U B, Ue —Txy HL 7 L AR AL UE —5x HL =5 A ALIAUS 58 O,

YU 53

veldld x? — 10x% + Sxp? — 207 €35 Ul ALARLS Hlowvil.

9.3 2isugl, [GUEl 27 tiguel

% ueldldHl Mol 215 o Ue <1 ddl uslaldd »isugl (monomial) sEalMl il €.
w1l % Id ol ue dAAd]l uelaldqd [Guel (binomial) s¢ © Ad 218l Ye H3UAd]
uelalfdd [(Brugl (trinomial) s¢ €.

QUs 73U A5 dl,

s 5 adl Ay UEL 3 FU USARASL YU L Gl (A A4HL Hldis AP SU) dAr
oigUEl 8. 1M, ctguelul uel-dl vl Bis 3 dell ay o dedl €S ub.
BelelBl dils,

w5 ugl @ 4x?, 3xy, =7z, Sx2, 10y, -9, 82mnp AdR...

GUel : a + b, 41 + 5m, a + 4, 5 — 3xy, 22— 4* WR...

Buel : a+ b+ ¢, 2x + 3y — 5, ¥y — 0% + )* AR

oguel : a + b+ ¢+ d, 3xy, Txyz — 10, 2x + 3y + 7z + 10 Ad3.....

YU 53

1. -l ouguelail 48l 56 otguel 2isuel, [Guel 3 Bruel © d ol
—z+ 5, x+y+z,y+z+ 100, ab — ac, 17
2. Gelgwl 0l :
(a) Mol s o A X’ i ddl 3 [guel.
(b) A4 X” 21 9" &lu adl 3 [Zuel.
(c) Ad X" A 9 ¢l ddl 3 wisugl.
(d) 4 5 qal ay uel aruadl 2 eiguel.
9.4 udly s [aondlu uel
Al velaldpiid madis s
Tx, 14x, —13x, 5x%, 7y, Txy, —9?%, —9x2, —5px
BuRsd uelalaell Ul wndle wel asul dl, :
(i) 7x, 14x, —13x uAdly uel 9.
(i) 5x2 24 (—9x?) ual ™ (Like Terms) UL ©.
(iii) 7xy 24 (=5yx) u@L Aadlu uel 9.




a5 uelaldal 214 Ry [l 139

[QRl....

AL M2 Tx @ Ty woadld uel Ayl ?
Al H2 Tx weA Txy ANl uel 2l ?
Al HI2 Tx v Sx? ANl uel el ?

YUt A

Al uel el 6 wAdly uel quil :
(i) 7xy (ii) 4mn? (iii) 2/

9.5 6i[%s uglald2Al AAn-oug oS

BUYRL UGHL HIRQHL 615 yelaldiAl Haol A oeois] dlvil ol ¢dl,

BeleBl dls, 7x2 — 4x + 5 A 9x — 10+l U 52,

x> — 4x + 5

+ 9% — 10

7x* + 5x — 5

GuAsd Rl 2l 3ol Ad AL 541 dl Aadis s Ul e3s uelaldd
€12 (Row) 2a3U 2Aadl auilat ¢t »uq sl auid Adld ueld sl 1A 215 i
alscl Aol s Sl L M2, 5 + (=10) = +5 — 10 = =5 d ¥ <d,
~dx + 9x = (=4 + 9)x = + Sx. AL, Al a4 ld AN,

BELSRW 1 ¢ Txy + Syz — 3zx, 4yz + 9zx — 4y 21 —3xz + S5x — 2xy-ll AN S3U.
Bie @ Alyad 2wl GuAsd A uelafaiil g5 ued 2l A 2ad €1l dlsdley
5 el gis AU uel visollodl Gua--la Q.

Txy + Syz — 3zx
+ 4yz + Ozx - 4
+ —2xy - 3zx + Sx

Sxy + 9z + 3zx + 5x — 4y

M, Uelal@dl AAL 5xpy + 9z + 3zx + Sx — 4y AL el U Al a9
3, ol uslaldml —4y 2 Sl usldaliui 5x 2adl saledl © (A WS ?) SR8
olel Yelrl A%cdld uel olslHl welaletimi Ayl
Belg 2 ¢ 7x2 — 4wy + 87 + Sx — 3pMidl 5x2 — 42 + 6y — 3 ol S
B34 :

Tx* — 4xy + 8% + 5x — 3y

5x? - 47 + 6y — 3
(=) (+) CORNCY!
2% —4xy + 122 + S5x — 9 + 3
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el 2uBl AlHlal 5 SRl Avaldl oleolsl scl wed d o AvuLHl
[R1H] vl GHRdl el (=3) 6lle s2aL 2ied +3 GHRAL 6y olle 54l
wed (—6y) GHRAL i % d (—4y?) olle sl ved 4y BGHRAL 6RI6IR
i, e sAomi saldd Hadlall (+, —) 4l ol sAami Wal uel
Al 59 oulilas Bul scdl d e wn o,

— O

1. <Rl €35 uelalddl 8d wel 2 AsRASL AL
(i) Sxyz2- 3z @) 1 +x+x° (i) 4x3? — 4xHy*2? + 22
2l y Y Y

i) 3-pg+gr—mp ) T+ % —xy (Vi) 03a - 0.6ab + 0.5b

2. ARl otguelaiid isuel, Buel 3 Bl asllszn 530 55 oguel Gullsd
el s uRl wsiHl olf ol el ?

x+ 7y, 1000, x + x> + x> +x*, 7 +y + 5x, 2y — 3% 2y — 3P+ 4P, 5x —
4y + 3xy, 4z — 152%, ab + bc + cd + da, pqr, p*’q + pg*, 2p + 2q

3. ARl elguelaiinal AR s

i) ab - bc, bc — ca, ca — ab

—~
= .
~

a—-b+ab,b—c+ bc,c—a+ ac

20°q* — 3pq + 4,5 + Tpqg — 3p°q

P+ m? m*+ n?, n*+ P, 2lm + 2mn + 2nl

12a — 9ab + 5b — 348l 4a — Tab + 3b + 12 ole $3
5xy — 2yz — 2zx + 10xyzMiel 3xy + Syz — 7zx olle 53

2.
N—"

~ ~~ ~~
o
~— O ~—

18 — 3p — 11q + 5pg — 2pg®> + SpPqHidl
4p*q — 3pg + Spg® — 8p + 1g — 10 ol $3U.

9.6 41ls uelalaziu deusiR : Yrdia-l

(i) A 2uudl Biguti-l eud il
4

[GigatiAl cua sa gl dbal

4 x 9

5 x 7
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54 Bigai-l vl
Al W2 2
SRl Aval (m)
A M-l AvU
(n) dpRusR 5l

w

m+2

n
e ¢ 06 06 - - - o o
e o o 06 — — — o o
e e e e e oo m X n
m . e e e e e = -
e 6 06 06 - - - o o
m X n
n+3
N\

|
)

(m+2)(n+3)

2l Rl Avml

2+l auRlL 2y 9,

2§Ald (m + 2) 24

el Avul 3 wedl

ad ©. x1dld, (n + 3)
29|

(il

dl,

i,

ol d¥ ey SIS AAd] uRRAM (@) wasl Fui

6l 6i[%s Ueldl oLBusiR sl Ul 7

UL : UURL doAlRUAL Alse W2 [kl
wsl2. doidlA 820 = [ x b, wul [
dollsS d b A yslus ©. Bl dousHl 5
sHeAl auIRl s vl (1 + 5) asa
A USUSHL 3 sudl Bl s wald,
(b — 3) a4l dl dl doliRAx] &sisn
(I +5) x(b—3) (254)? 2.

9 i gsa (a9 (Gl ast ? (deEnsd w-dsa
A adl dows, uglous 2 Glaus-l deusi 9.)
ARAL 215 Geleel Ul AHAA © 5, wUR
Bl drg vRlEl o A ga YsadiHl
26Y Al dRUSIR el Ul 9.

Belswl @ s s Soudl Bud = 2 p

e WAL YA M2 %33 30 = z ot

dl 56 ysadl-l W4 =2 p x z

» 3

v

1+5

Ao RU oS0 WAl HIS
sl Gil%s ueldl oISl

5L U3 Fal 5 [ x b YAl
(I +5)x(b-23)

B2l 5 30Ul BHadl $oq €ls 7 24l Heldl Al €9 A w33 S0l oMl
4 Speidl gLl w6,

1 st S0l Bud =z (p-2)
soui-L %33 ool = (z — 4) s 24l
sa ysadidl s =2 (p-2) x (z - 4)
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YUt 5

(enelPotl, 9 dit 2udl S8 2 uRRALAL (A9 (Gl 6 Gelga 2wl wsl
il uudl 65 uelafdHiidl dRusIR sl Uy ?

Y @ WY Al By He (Gl

A ® L 2y ludl M2 Hed A %l 82 492 W2 [[QAIRL
GUAL MM BeleRell W2 6l 5 ddll ag 6ll¥s ueldl oISl sl ul. %l 1S (a0l
6il%s uelafdt 23U Ul €A dl SUUS d lHdl ORISR 5L UL, Hddel & sl
ARSI A HE el ? 3 sl 7o ellat el Al puusl 2 uglaur sl
AFHUAHL sl 6 Hsueldl dpusiz sdl Ad s d A,
9.7 AsUEl-l HUSUEL A dLRUSIR

9.7.1 61 BSUElHlL dRUSIR
4 xx=x+x+x+x=4x
d o 2d, 4 x (3x) = 3x + 3x + 3x + 3x = 12x
gd, AL dRusiR gL ¢
(i) xx 3y =xx3xy=3xxxy=3xy

wel, Al oL o
OLBULSIRAL &ALl - 3xy,
15xy 24 (—15xy) ual
w5UEl % 6.

(i) 5x x3y =5xxx3xy=3x5xxxy=15y
(i) 5x x (-3y)=5xx x (=3) xy

(=3) x (5) xxxy

— (~15xy) dl, 5 X 4 =20 Haid, uslalasl

dlgl a1 Gualell Gelsael <3 wogor B SLULSIRAAL USRS = YUY 25Ul

(iv) 5x x 4x?= (5 x 4) (x x x% ALRS X 62 BSUELAL ASAAS
=20 x x> = 20x° §WA, X X X=X

(v) 5x x (~dxyz)= (5 x —4) x (x x xyz) | 212, velald-tl dRusR-AL 6ils
=-20 x (x x x x yz) | yaua = way asuldl alys

= —20x%z waud X ol Asueldl 6lss

N

l, 2B 2 MAdlst 3G AT 5 6 —

uelalddl oRUsiRUl % 6l¥s el 8§ ddl
M-I Actel Aldis sl Ad Aoy 9.
2l 5L W2 Hld i aldisdl [l Gualol sl o,
9.7.2 A 5 Al 4y ASUElL ORISR
1Al Gelewll gl :
(i) 2x x 5y x 7z= (2x x 5y) x 7z
= 10xy x 7z
= 70xyz
(i) 4xy x 5x? x 6x%)°

(4xy x 5x%?) x 6x%)°

= 206 x 6x%® = 12003 x x%)°

=120 (x* x )7 x »*) = 120x° x »° = 120x%°
el 2 W 9 5, BUASA BeleWHL B3 Hoadl UUd HSUELL U5l waH A
(acflat 2isugl-l apeusiz s ¢lad s AR olle & alel 1ol d- >l visucl we
il elad. 2 % uglaell AR dedl suelalidl deusiz wal Hadl sy,
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Q! i Y N N
WU SR Ul {ladl Zd uel opusiz Akl

® 4x x 5y x 7z ML uslaA
o (4x x Sy) 2l dn 7z4dl ol 4xy x 5x°)7 x 6x
swadl (5y x 7z) Al Ad dx ay ol | = (41X 5 x 6) x (xx ¥t x x7) x
9 Gusd oid uReum Aui B 7 (v x 32 x 37) = 120x%°
el uRel dd gl dRel el ?
Gelgnl 3 ¢ «lAdl siresHl doiiRA H2 Ul dotl A ueloudHl Miu el
AoiARA, Aosu Q.

B3y : dous ugious Aasn
3x Sy 3x x 5y = 15xy

9y 42 | e

4ab She |

\2[2m 3In? | e, >

Beld2wl 4 ¢ {lAAL siresul dotaq H2 20Ul dosS, uglus A Gl M uel
cotrte 8es0 2llHl.

s : 3 ;
doud | ugus | G Ut
(i) 2ax 3by S5cz | .
(ii) m*n n’p pm |
eee 2 3
L (iii) 2q 4q 8¢ | )
B34 : ads = doud x udlous x Gl
a4l
(1) adsn = (2ax) x (3by) x (5¢z)
= (2 x 3 x 5) (ax)(by)(cz)
= 30 abcxyz
(2) ads0 = (m’n)(n’p)(p°m)
= (m*x m) x (nx n?) x (p x p?
- winp®
(3) arsu = 2g x 4¢*> x 84°
=2x4x8xqgxqg*xq’
= 64¢°
B o
1. {2 2utdl Hsueliicl wisedl dpausiz Ml
i) 4, 7p (i) —4p, 7p (i) —4p, Tpq (iv) 4p’, —3p

(v) 4p, 0

2. AoRRAUAL dollS i USlousHl Hu W2 12 2uudl 25ugll gl Gualal s34
oA RA, A5 kL.
(p, q); (10m, 5n); (205, 5)°); (4x, 3x?); (3mn, 4np)
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3. ousiz 53 sies yel s,

p
g Bsuel | 2x -5y | 3x? —4xy | Txly | -9x%?
ofley Asueld

2x 4% | s | e s ],

-5y | | 15| e | e |
32 | | | e |

—Axy | | e | e e e
Xy | | | e e ]

=9x2? e | e | e | e | ]

4. doEnsl dons, Uglous 2 GlALSHL MY 2ArsH {12 Horol 69, drll Ul 8su k.
(i) 5a, 3a* 7a* (i) 2p, 4q, 8r (i) xy, 2x%, 2x)? (iv) a, 2b, 3¢
5. dRUSIR QWAL
(i) xy, yz, zx (i) a, —a%, @ (i) 2, 4y, 87 16)°

(iv) a, 2b, 3¢, 6abc (v) m, —mn, mnp
9.8 suel-l biguel A dRUSIR
9.8.1 Asucll [guel A spus
Bistl, 216l 20Ul 2sugl 3xa [Guel 5y + 2 a8 il 2ald, 3x x (5y +2) = ?
2], e AV 3 3x i (5p + 2) A Aval eald 9. il [[euoHdl FHumdl Gyl
sdl, 3x x (5y +2) = (B3x x 5y) + (3x x 2) = 15xy + 6x

AL I 2048l Al el [Qeuorl [HuH-l
= Gualol s3a o Sl BelgRwl
“sugl
i Guglil 7 x 106 =7 x (100 + 6)
stz el g = (7 x 100) + (7 x 6) ([Acuwrl Muu-Al GualdL 5l
= 700 + 42
= 742
7 x 38 =7 x (40 - 2)
= (7 x 40) — (7 x 2) ([cuw-dl [Ruu-dl Gualal s2dl)
=280 — 14 = 266

w1 % Ad, —3x x (=5y +2) = (=3x) x (=5p) + (-3x) x (2) = 15xy — 6x
w1, Sxy x (0P + 3) = (Bay x ) + (5xy x 3) = 5x° + 15xy

Biotl, [Buel x »isuel we o sél asia ? Gewgwl dils, (Sy + 2) x 3x = !
], sHAL [FUHAL GUAdL 53 As 1 7 x 3 = 3 x 7 Ul AU 13U
axb=>bxa %3Ad, (5 +2) x 3x =3x x (57 + 2) = 15xy + 6x

YU 5

ARUSIR Wl : (1) 2x(3x + 5xv) (ii) a*(2ab — 5¢)
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9.8.2 sueldl [Auel A dpusiR
3p x (4p7 + 5p + 7) (A= 240UG-L (Bl Aol 218l [Aetal (Rl Gudlol s34,
3p x (4p* + 5p + 1) = (Bp x 4p?) + 3p x 5p) + B3p x 7)
= 12p° + 15p* + 21p
(Brugl (Trinomial)l €35 4l isuel (Monomial) 43 2Rl

i gl HAL S Yy 5

L 2acdist s 5 [Aeugtit [Ruudl Gudldl s suguse sl :
SUUBL AGLS5IAR UEL Rusik Aadl adlat gl (4p* +5p +7) x 3p

Bel2ul 5 @ wld uslalid A0 ¥ZU UL A [EL AR Bud Hadl,

() x(x —3) +2,x =1 ™2 (i) 3y(2y = 7) = 3(y = 4) — 63, y = (=2) e
B34 :

i) x(x -3)+2=x>-3x+2

x =1 we, ¥-3x+2 =01)2-301)+2
=1-3+2
=3-3=0
(i) 3y(2y —7) - 3(y — 4) — 63 =6 — 21y — 3y + 12 — 63
= 6)? — 24y — 51

y = (=2) e, 6” — 24y — 51
= 6(-2)* — 24(-2) - 51
=6 x4 +24x2-5]
=24 +48 - 51 =72 - 51 =21
BEISRBL 6 @ WA 53 :
(i) Sm(3 — m) 24 6m> — 13m (i) 4p(3y* + 5y — 7) 24 2()° — 42 + 5)
B4 :
(1) wam vewld = 5m(3 —m) = (5m x 3) — (5m x m) = 15m — 5m?
¢d, oflew velald GHdl, 15m — 5m? + 6m* — 13m = m* + 2m
(i) wax ueald =4y(3y* + 59y - 7)
= (4y x 3y) + (4y x 5y) + (4y x (7))
=12)° + 20y — 28y

ol velald =20 - 42 +5)
=2 +2(-4?) +2 x5
=2y - 8? + 10

¢d, ol usldld-l AA0 5di, 12)° + 20y — 28y
+ 27 — 82 + 10

14 + 12)7 — 28y + 10
Bews2ml 7 : 2pg(p + q)Hidl 3pg(p — q) oue 3.
Gia = 2dl, 3pg(p — q) = 3p%q — 3pg® ¥ 2pq(p + q) = 2p%q + 2pq°
olleollsl S, 2p%q + 2pq?
3pq - 3pq°
- 4+
-P’q + 5pq’
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I - 0

1. Rl velalaidl e3s s e dusR wadl.

G) 4p,q+r (i) ab,a—-b (i) a+ b, 7a*h* (v) a* -9, 4a
(v) pg+qr+rp, 0
2. sies yel 2.
( N
54 wau ugwald olle uelala dRUSR
(i) a b+c+d
(i) x+y -3 Sxy
(iif) p 6p* —7Tp + 5
(IV) 4p2q2 p2 _ q2
(v) a+b+c abc )
3. 2RUSIR WAL
. . 2 -9 22
() (@) x 2a?) x (4a%) (@) (20) « (3257

@ (o) x (84
4. (a) 3x(4x—5) + 31 A 3u 2wl 24 (i) x =3 (i) x=

X =

(b) a(@®+a+ 1)+ 51 342wl 24 (i) a =0 (ii) @

a-dl (Bud sl
(a) AL 52U : p(p — q), q(g — 1) @A r(r — p)
(b) AWML 5 : 2x(z — x — ) 24 29z — y — x)
(c) ougousl s : 4/(10n — 3m + 20)4iel 31(1 — 4m + 5n)

(d) oueousl 20 : 4e(—a + b + c)nidl 3ala + b+ ¢) = 2b(a — b + ¢)
9.9 tiGUELHL GLgUEL A1A ARUSIR
9.9.1 [guel-l [Guel i dpeusiz
2wl 2uull, [Guel (2a + 3b)L olly 518 [GUEl (3a + 4b) w8 dRusIR s
UGHL [BRuHl %3 Rzl 53 8 d o Ad 2l dotssiaur Al sl dRusR ue
[Clouordl [HaH-Al Gualol s34 dl,

(iv) x x x% x x> x x*

-~

e adl Bud Al
1 (iii) a= (-1) =2

1
2

(3a + 4b) x (2a + 3b)= 3a x (2a + 3b) + 4b(2a + 3b)
(gq,h ‘3” ay [gudll g3 = (3a x 2a) + (3a x 3b) + (4b x 2a) + (4b x 3b)
uerl ol [QUeldl €35| = 64% + 9ab + Sbha + 1207
ME WA QSR WA S |, (~ ba = ab)

U BUURL £35 Uerll QRUSIR Ayl elad, L 2Bl dlsidla ¢l 5 2], 2 x 2
= 4 Uel ©. uig, d USlHL 6l ue Adld UEl 8. F URUR AN B i dall Ded AR
UE HOL 6. UM, FAUUR GgUEl Ale GigUEll dRUSIR s> AR ULl dHAl Aodld uel
el BS i %l Sld, dl dalld URUR %gal BOB. (AAAL gL 5 olleoilsl gll)




Alys usral@a 2 Ruuy 1 147

BElg2BL 8 & dRUSIR SR,
() (x—4) 21 v+ 3) (i) (x —y) 24 3x + 5p)
Bd :
() (x-4) x 2x+3)=xx (2x +3) —4x (2x +3)
= (xx2x) + (xx3) = (4 x2x) — (4 x 3)
=2x> +3x — 8 — 12
= 2x% — 5x — 12 [udld ueld AE 3 2Uudi]
(@) (x—yp) x Bx+5) =xx (Bx+5) —yx (Bx + 5y)
= (xx3x)+ (xx5) - (yx3x) = (y x 5)
= 3x? + 5xy — 3yx — 57
= 3x% + 2xy — 5)7 [AAdld ueld AE U Uudi]
BELSRBL 9 & JRUSIR SR
(i) (@+7) 21 (b-5) (i) (¢®+ 2b*) 2 (5a — 3b)
B34 :
Q) (@+7)x®B-5 =ax®B-5 +70b-75)
= ab — 5a+ 7b — 35
(], 2L ousRML S5 Aomdly uel el d-l i ada.)
(i) (®+ 2b%) x (5a — 3b)= a* x (5a — 3b) + 2b*(5a — 3b)
= 54 — 3a°b + 10ab* — 6b°
9.9.2 [guell [Buel wa dpusiz
2L OLRUSIRHL 2UURL BLUglHl €35 218l uel [guel-l oinl uel A8 oial A, Fell gd
(2 x 3) = 6 UeEl HOAL. aoll, % U%AlY UEL S dl 6 Uel oled B3aMi 5 % del sl
ugl Ml

QL 3,
“(a+7)x (+3a+5) = ax (@P+3a+5)+7Tx (®+3a+5) (- [Qcues--l [Fux)
(guel BGruel = &* + 34 + 5a + 74* + 21la + 35

=a + (3a*> + 7a*) + (5a + 2la) + 35
=a® + 104> +26a + 35 (2L HI2 AL 1oL 4 ULl ) ? gil.)
Gews2eL 10 = (@ + b) (2a — 3b + ¢) — (2a — 3b)ei AUE 3U UL
Bsa : A,
(a+b) Qa—-3b+c)=aa-3b+c) +bQ2a—-3b+c)
=2a*> — 3ab + ac + 2ab — 3b* + bc
=2a*> — ab — 3b* + bc + ac
(el —3ab 2 2ab uAdlY uel ©9.)
24,  (2a — 3b)c = 2ac — 3bc
al
(a+b) Qa —3b+¢) — 2a — 3b)c = 2d° — ab — 3b* + bc + ac — (2ac — 3bc)
= 2da°> — ab — 3b* + bc + ac — 2ac + 3bc
= 2a* — ab — 3b* + (bc + 3bc) + (ac — 2ac)
=2a°> — 3b*> — ab + 4bc - ac
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B, << 0

1. [Buel-dl orusiz .
i) (2x + 5) 2+ (4x - 3) (i) (y — 8) 2 (3y — 4)
(i) (2.57 — 0.5m) 214 (2.5 + 0.5m) (i) (a + 3b) 24 (x + 3)

() (pg+3¢) #3 Gpg - 2¢) () (2a7+32)  4fa®- 207

2. dRUSIR ML

@ (-2 G+x) @) G+ 7v) (7x - »)
(i) (o +b) (a+ b%) i) @ - ¢*) @2p +q)
3. AE U 2L
i) *-5) (x+5)+25 i) (a*>+5) P +3)+5

(i) (r+ %) (7 =)
(iv) (@a+b)(c—d) + (a—-b)(c+d + 2ac + bd)
V) G+ @x+y)+E+2)@x-y)
V) + ) (67— xy + )
(vii) (1.5x — 4y) (1.5x + 4y + 3) — 4.5x + 12y
(viiii) (@ + b+ c)(a+b—c)
9.10 [Reuun 2eq g ?
[renell BFotl, 246] i Axgal 2usl 245 q1dl daSA. (a+ 1) (a+2) = @+ 3a+ 2
2§16, UL UL AHdALAL ol ool
We a = 10 a4 [Bud il
ool =(a+1) (@a+2)=010+1) (10 +2) = 11 x 12 = 132
%. 6l = a+3a+ 2= (10 +3(10) + 2 = 100 + 30 + 2 = 132
M, a= 10 W2 i AHdlAl ol oiggel Budl uvil ©.
gd B a= -5 a4
Qo= (a+1) (@a+2)=(-5+1) (-5+2) =(-4) x (-3) =12
% 6= > +3a+2=(=52+3(-5)+2=25-15+2=10+2=12
ddl g = (=5) aS¥l dlugl Lol = %ol HaL.
dl 2], dArdl asla 3 adl 516 ual Bud w2 2udd AHdldl QLo = ool M.
2, Ad] AHAL 3 UL 200 A4 515 U Brd W2 4 w2l §id dl dd Ry
(Identity) 58 ©.
wH, (a+1) (@a+2)=d>+3a+ 2

N

w5 MmO,
UL 2L vl Al 5, S0 wal qHlsW L dHl 2ubel daddl s AlssA Budl |
o ARAL Sl1U O, d %-d A4l ol o BHdl W2 aAL Sldl <l
gwld dils, @® + 3a + 2 = 132
BURLsd WHLSW a = 10 Hie A 8. uig d
st : ? 4+ 3a+ 2 = 132 A a = (-3)
9.11 wHildd [Rauu
BUUBL €A, vol o oL AU Feruusdl e 5309, ¥ uusl s1dul vel Guyidll

29l i ey >uudl [Gueldl [Buel 0 spusz sA4 dadly

-~

»|
A}

a= (=5) 2adl a= 0 [ He w0 .
2§ g = 0 He A el
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® AMUH (a + b)(a + b) ¥4l (a + b)? Al

(a + b)? = (a + b)(a + b)
= a(a + b) + b(a + b)
=a* + ab + ba + b?
= a + 2ab + b (' ab = ba)
BN, (a + b? = a* + 2ab + b* 1))

Al oL e 5 ol welafd 24 gLotl-fl velaldeal vuR opusiel o Ha €9 el
d My 9, el 20u8l A4 ‘@’ 2 ‘Dl 51 uel Bod adut dl uel ol ouogiisil
Bud 2lsauid % HA 8. ald, Lol = %ol Ay 8.
(i)a=2b=3 (6% :25) (ii) a=5, b =2 (654 : 49)
e ¢d, U (¢ — b)? H2 [,
(a— by = (a-b)a-b)=ala—- b) - ba - b)

=a —ab — ba + b* = a*> — 2ab + b* (I
VLU, (a — b? = a* — 2ab + b*
® 9¢d, (a + b)(a — b) e [@QARL (a + b)a — b) = ala — b) + b(a — b)

=d*—ab+ ba-b=d - b (. ab = ba)

UM, (a+b)a-b)=d - b (1)
Gusd My (1), (1) 24 (I1) 20 Wl M ds 2iavi 9,

YU 5

1. Ry (DU b oted (—b) 45l o ddid Ry (1) vaal ?

o

o ¢, HURL s a4 Gudbdll Ay e udct s3.
x4+ a)x + b) = x(x + b) + a(x + b)

= x>+ bx + ax + ab

=x>+ (b + a)x + ab
VM, x+a)x+b=x>+(a+b)x+ab Iv)

YU 52

1. a=2,b=3,x=>5 w2 MHayd (IV) AL
2. M IV)HL v B W a = b dl ddl o 40 8 7 9 dd
My (1) wd 58 dole © ?
3. Ry (IV)HL v BRuL M2 a= —¢ 2t b= —c dl. dHA 9 4a © ?
9 dnl (R (I1) A8 51 Adoiu & 7
4. [Ras IV)UHL v B e b= —a dl dinl 3 40 8 7 9
My (1) 08 515 Adely © 7
L AS wSlA Sl 5, Ry (V) 20 Ry (1), (11), (D)4 uH @34 8.
9.12 [Raau-l GualBial
gl U ASY 5 [BUELHL LRSI dal AvALUAL ARUSIR 2R Sl B5a He
Ml Gualol 21 »is A0 ds(@s Jd 8.

a
=
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Gewgel 11 ¢ [Reaay (Dl Guaol s34 g 34 2wl (i) (2x + 3y)? (ii) 1032

B4 :

(i) (2x + 3y)? = (2x)> + 2(2x)(3y) + (3y)? [ (Dl GualdL 5]
= 4x* + 12xy + 97?

2], U8 MAAHAL Gulol g1z Al d el aadl 3 sl

(2x + 3y = (2x + 3y)(2x + 3y)

= (20)(2x) + (2x)(3y) + (By)(2x) + (3y)(3y)
= 4x* + 6xy + 6px + 9’

—~

VX = xp)

M (DL Gualoell 2uuaa (2x + 3p)-l asl sail 215 dsleis dAd 1A 9. 9 i
Al 5 [Reaaudl Al Al Ad sl el walEal © 7 dd siqeaal 5 (2x + 3y)
st ay ol (408) [Guel-it asl sal Wiz uaL 20 dAd 4y W 8.
(ii) (103)*> = (100 + 3)?

= (100)% + 2(100)(3) + (3)* [[Fcuux ()l Gualdl $2dl]

= 10,000 + 600 + 9

= 10,609
2l, sl (103 x 103) s34 us Bsa Hadl aslal, uig dd el 5 Al dd
Ut 534 103 «ll Aol s2aisll Zd sl Fcin (1) Al Guaiol sael ay, A0l 28
9. 2 dd 1013 L 49l d A,
dd L BRudl >l un el 5, Aldl Ad opusik s Bsa Haqadl Ad sl
il Gualotaoll 2d ay usis ua 8.
Gelg2l 12 : My AN Gualal s34, (i) (4p — 3¢)* (ii) (4.9)? 2Ll
B34 :

(i) (4p - 3¢)?

= 4x* + 12xy + 97?

(4p)* - 2(4p)(3q) + (3¢)? [Fcuu (1)l Gudlol 53di]
16p* — 24pq + 9¢°
(5.0 — 0.1)> = (5.0 = 2(5.0)(0.1) + (0.1)?
= 25.00 — 1.00 + 0.01
= 24.00 + 0.01 = 24.01
Gewgel 13 ¢ My (DAL Gualol s34 (BHd sl

(ii) (4.9)?

Q) (Zm+2n)(3m-20) (ii) 9832 — 172 (iii) 194 x 206
B3y :
(i) (%’"*%") (%m%") = (%’")2 - (%”)2 e opust-l el

ol 5304 sueousl
ol !
(i) 9832 — 172
(983 + 17)(983 — 17) [2€], a = 983, b = 17,
1000 x 966 @— b= (a+b) (a-b)]

966000
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(i) 194 x 206 = (200 — 6) x (200 + 6) = (200)> — (6)?
= 40000 — 36 = 39964
BELS0L 14 : MAAH (x + a)(x + b) = X% + (a + b) x + ab-ll Gualol s34 [Bud 9kl
(i) 501 x 502 (i) 95 x 103
B34 :
(i) 501 x 502 = (500 + 1) x (500 + 2) = (500)* + (1 +2) x 500 + 1x 2
= 250000 + 1500 + 2
= 251502
(i) 95 %103 = (100 —5) x (100 +3) = (100)> + (=5 +3) x 100 + (=5) x 3
= 10000 — 200 — 15 = 9785

I - 05

1. 40y [Reddudl Guaal s3A 1AL dpusiz Hadl.
i) (x+3)x+3) i Qv+ 5Qy+5) (i) (2a - 7)(2a - 7)

(iv) Ba - 1)3a - %) &) (1.1m — 0.4)(1.1m + 0.4)
b

2 4
M) (@ + P)(-a® + b?)  (vi)) (6x — 7)(6x + 7) (i) (—a + ¢)(~a +¢) =

X ll1+3— ll£+3— x) (7a — a—
@) yj( Y) (x) (7a — 9b)(7a - 9b)

2 4)\274
2. (x+a)(x+b)=x"+ (a+ b)x + ab Fauu-l Gualol s34 AL dyeusiz 2lHl.
() +3)x+7) (i) (4x + 5)4x + 1)
(i) (4x — 5)(4x — 1) (iv) (4x + 5)(4x — 1)
(v) (2x + 5y)(2x + 3y) vi) (2a® + 9)24* + 5)

(vii) (xyz — 4)(xyz - 2)
3. [MdH-Al Gualol 530 1AL ad) Nl

@ (-7 @) (xp + 32)° (i) (6x* — 5y)°
() (2] V) (04p — 0508 &) (Qu + )
4. AE 34 il
(i) (a® - b*’ i) (2x + 5)*>— (2x — 5)?
(i) (7m — 8n)*+ (7m + 8n)? (iv) (4m + 5n)*+ (Sm + 4n)?
(v) (2.5p - 1.5g)* - (1.5p — 2.5g)?
(vi) (ab + bc)* — 2ab’c (vii) (m* — w’m)? + 2m*n?
5. B s
(i) (Bx+7)*—84x =(3x—7)> (i) (9p —59)*+180pg = (9p + 59)*

2
i_é) 16 >, 9 »
(iii) (3m 2n) 4 2mn = gm’ + Ten

(iv) (4pg + 3¢)* — (4pq — 3q) = 48pg°
V) @a=ba+b)y+b-c)b+c)+ (c—aNc+a)=0
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6. Rl Gyl 5304 awidzl s2U.

i) 712 (i) 992 (i) 1022 (iv) 9982
(v) 5.22 (vi) 297 x 303 (vii) 78 x 82 (viii) 8.9°
(ix) 1.05 x 9.5

7. A" @@ — b* = (a + b)(a — b)-l Gualdl s34 [Bud ikl

(i) 512-492 (i) (1.02)>-(0.98)* (i) 153> - 147> (iv) 12.12-7.9?
8. (x + a)(x +b) = x> + (a + b)x + ab-ll GuAlal s34 [Bud Wkl

(i) 103 x 104 (i) 5.1 x 5.2 (i) 103 x 98 (iv) 9.7 x 9.8

I - < --i -2 A

10.

11.

12.
13.

‘U’ A VAQ AL GuAlE] velald 20l as 9.

el A0 5309 uelald oiridl 251U 8. UER dudsl dRUsIR 230 saldl as B,
% ueldldHl s, 6 5 A8 uel ¢l ddl uelaldd s visuel, (Guel 5 Buel
uelald sdalml i B, Aus AU, s 5 ddl df uel FHil ULIARSL Y A S
(¥l Adrll Bldis 2R €14) de eiguel sdald.

AHIA AL 4R 2 d Al-l AHIA Bld AL el ddly UEl s& 8. udld
UEldl ASORISL AHIA glal %33 el

12 GLUELAL U (3 olLeotls]) 53l €l IR AL UAH il Al welH] dioy olisasil
530 dd GHRAL (5 olle s2qL) 2ASul. lRole [[oadld uelHl olsanil sl s,

all ol uRRAMUL G5 uelalaiidl dpusiz sdl %33l o 8.

Belgal dil3, o doliaaddl ool 1w Alss uelald dl3 2utal S A dd
gotsu ladl Sl

sueldl Hsuel A dpusR sael wsuel ¥ Wil ©.

U2 GlgUell HsUel AL JRUSIR SAL 1A QUL UG GLGUElHL 35 Ue Al
%-c HISUELAL ORISR Sl U 6.

2 olguel-l dRUsR (guel (5 Bluel) uie 53 opidsu Haddid €l IR 215 ugl
s U S5 Uedl SR Sl L.

ald, 2UUa AUl £35 Uesdl [uel-l (3 Brugll) 635 ue A8 oLausiR sl st

My 2 AHdL 9. % Ad-dl 515yl Bod W Rl 63 9. w2 qHlsw 2 d-l
-l 235 AU BHdl e o W &2 9. 20, Wl 2 [ el

ARl Ry yHlBid Ry 9.

(a + b*= &+ 2ab + b? D
(a - bP= d—2ab + B a0
@+ b)a—b)=d— b (IIT)

(x+a)x +Db)=x>+ (a+ b)x +ab (IV) w2 s Guadll [MAx .
615 uelaletdl a0l s oLRUsIR AHAl M2 BUAsA My ami Gudiall
Avalel 9ol 2 RIS Al W2 ud s Alseus ugla dd Gualiell

BuRid,

0.
0.




10.1 Wrdlds

QIR0L-7HE dH AHAA LS 2 8o 251 [ 2lvil 211 91 AHAA HLSIRAA 6L WYL S1Y
89 ¢ dots 2 welons. dell o dalin [g-ulRHeld (Two Dimensional) 2HLs12 sdald €9,
IR Bl Ugled SRl WY €l 8 1 dollsS, usous i Gl wadal GlaS. dgl due
Br-ulRHelld (Three Dimensional) Us12 $& €. 24l GuRid s a~t ueld sedls aoul
uel 5 9. [grulRHela s BrulRausla 2uglad sl 2-D i 3-D sugld dils ual
AL 20 9. BLole, AR, doriR, dda 4l dd 4 530 i o)l 2-D skt
9. UL UM, OISR, g, dlds adR B-uRMwely (3-D) s 9.

g s

U5WL

10




154 W 2dd

L 2 AL 5 GURAL B35 2SR HOL HLSIR V. %Rl DAL U GUR salldal
LR BURAd 6L 5 dall a U511 1ol oiddl SIS Aal 2SR A Al Al Ha
8. LAl arqall wudel gl

doy $06{) LSSH Sl
(Housiz Gur i) (Wl AousiR) (2is Gux 2140Nds)

S1215H 52131 ERIR)
(doia wie) (Wl »9a0ds)  (HousiR Guz 2A800as)

AIEIER
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10.2 [BrulRHella 2usi-i geul
dd i ol 5 BruRHely axgiin gel-gel wodiel %idl gel-gel 23U %idl 1o 9.
WUH 25 % A 2R gel-gel URNEE] AU ISR A5 WSl Gl Belgwl
als :ruﬁg Fudlal gel-ogel 2l odl Sdl guid 9 d il

u2

Fudl Lol 294 ougMigdl euid 894 Gurel evid e9d

adl o d widl 2L qaoL gel-gel el S sy,

el oyl evild 2w Guell euild 2

25 Widl Guel Bulldl 894 (Top view)Hl Au3+dly adasil %l Al W2 Adl Ha 9 ?
9 oflo Seals el widl wield ‘ouyial evid e’ g sl 7 [AARL Wil
ol 294 (Front view), weons 224 (Back view), Sloil ouogell evild 29 (Left
view) il Rl ougel euid e94 (Right view) uull il Mol 8. 9 2udl dd €35
ARl 6y URrL 2vild (Side view) il 201l uid (Front view) A0l 11 7
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6d Al Se gel-ggel 22l Adi Howdl 22dlA el RS
Gur

ol

Mt sonell evig 2eu ouogHisl suud 2o Guadl evd 2eu
$2
12 Seals AHaA] ol 2A51RArAL YEL-YEL 221 (View) UUAL 8 drtl AL i A1,
Gu:
7
V4 6UY
SN}

AR UM gRL oA s ugHiell suig 22u 2ol Buig 29 Gurel guud 29u

Bu:

ol
241000 ¢

AR AW glRL oA 25 Gurell evig g vuomell evid 2 suyguidll evid 2eu

Bur

L

241010 Uy

AR AU GRL G U5 ologHiell suig 2eu swamel evig 29u Budll guud 2eu

g s
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1.

2wl €35 U AL 6l 290 (view) oug-ll evild (Side view) i+ Guad
29y (Top view) AU 6. daq 2 d-l AlAL 824l (view)d A8l udq
Agg Il UMY M2 oldldd O,

g ol gvid ETERIREARIE)
(Side View) (Top View)

(i)
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2. U 8 Al AR, drll 2Rl 2 (view) 2UUA B, 2UUE g5 A W BUR
(Top), w2 (Front) i Uy (Side)rll 294 (view) 0Ll i UM,

(i) (ii) (iii)

w2oudl
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3. wUldl 85 Erl sl We Bud 224 (Top view), WL 224 (Front view) i
6y e24 (Side view) LAl

(a) Gu:
vV
6%
/1
A
Gu: (i) (ii) (iii)
& ey
A
Gu: . ..
l (i) (ii) (iii)
(c)
«—ouy
/
A
Bu2 (i) (ii) (iii)
(d) ol
/1
A ;
U . ..
l (i) (ii) (iii)
(e)
e oy

() (i) (i)
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4. A Ul arqiid 2wt e (Front view), ey 224 (Side view) 2t G
22 (Top view) izl lleesyi 1R
(a) Als doy (b) 2014 G
Bur =

6L g

/1
0
(¢) @izl -2
GuR

6UY

RIS

(e) wall

4wy

o} A
201U 7

RIS

10.3 >uuell suAwdl Ul s @30 20avH,

di walis ol qliml edl el % dil Asuil (A9 2l 9l R [uUHl aus
A5l ALSSA Wi, AlssAU A2, 2AlssA A€l Udd AR guladid Yool iad ed.
St [auanl 81 s 5165 MBI 220 sl ealdl 219 oldsianl oid Hewysl
el qgiddld sSalml 2ad ed. 2 GURid dil Asaml Agliiqil das, 8, Wd-ad-
Bl sl 2 sdlddl Sl Ul sl 59 3Ad ail wslal ? (Hw wsla ?) suR
UL 5L ASHL 912 U 2AUUBL 9 AHDDL 912 e 9L AR SIELAL Sl 7 sl
58§ WSl 2uud 8 2 56 Wl 2uta Al 7 9 B A s a2l SIS dslad
9 7 U [Qeuorl Ul il % sedls wseldl el Haelel el s Hsiedl Rt
GUYHL ULl ALsall e 8. L i 2nal g2l (Gugld 10.1).

2usld 10.1
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gl 10,1+ 2g2tdel di g il siél ast 7 R »uudl s B el gl
UL ARAGS %A 520 WAt s3> 1L U U 2L ARdlds dxdl el [@oidl
galladl uael 533 lal, uig @R SUuBL sal el Bl AR U ML dsd
2l i e 2log-argel A 2@ 2 AR U % AR Rl 2l Sl s
2B %-d ARl AU 4 Herd Suudl el Rist i sl a2l oflal de 6
558 s ¥ drgd @l gel-gel elesiadl uta gel-gel 23U Wk wY 9, Ulg
sl ollold U dd Al 22 5 HAdISSR Uldld 2l Hed 9dl WLl HsLe-l sl
dl FHeAL Y % 28 D, oflon Al sl dl Qs R W2 225 vl o voAl

. = = . .
8, uig s w2 efesiad Hera el ? oh) w3 o+ suou
Q

8 Ul 10.240 Al -l A8 EREL A5l
il dMl dBl d-l gel d-il aou ugiuasl
Yol salde 8. i 5ol uell i 1AL el
gclol Y] wsAl ?
(i) waa-dL 8=l a-dl o sedl g2 © 7
(i) o sausil vigan €35 ada 515 s o
R Adid O 7 Wil won
(iii) A 24 drfl otdArdl ounigl si-l aon
AL 84Ul s © ?

2u5ld 10.2

sl 10.230 20U AsaHisl GUAS Ustirll Falol SUUdL vol % Hesd 8. 9 di
5L ASAL S UH AL HIS 7 5180 21 89 5 2UUL A2l 8L 5 20 A2, i AUHIERL € 5 U]
2E1Y AUl 1AL 9 e 2L AlAi-Hl2l dqotl 9 edld © d uRL e 2l
¢d gl 10.340L sl g>iL dxl el
g aurll ot H{lad i aRell d-dll aoudl
Wl galedl 8.
2L 59l HUGHL A5 Sl AL 9. ]
Wl ogel-ogel Heasl @AM RigAl)A

N

-~

oel-%el Rusrinl Guaiowel saienl 9 e @il
d2 Hie dioll dAld dal 25 idr e 25l
ALS SRAML 2UAE €9 A 5 A5l BlRaAlM
YHIRMY (5) L GUAdL 53¢ 6.
e d¥ AL usHlAdl il AL wsll

o 2uaa-l Ael 2uaaxl won dedl £ widdl & ? gl 10.3

o sil won azell ay dws ©, Ada-]

5 Yl ?
® HIAHL el MRl (Aol 200L) sl sl 6 7

2L uRel 2R AHNY 3 B2ls Addl-dl Guallol sl 2 20l d2RAAL idR gl
U8l s well wadiel w4 wslol Glal di Y ¢l 3 Asumi edldd vidr A
ol Yl AURAAS il AUHIEL Sld 9. UM 0L HIZ ALS5A WHRHIY (R¥AHIU)
UMl AdlHl U €9, U2 ASAL olrlddl SIS 5 AlAdl SIS AL A5 52dl ¥A-l
9 d oReR ARl €lal BB Aed 5 s ud 1 Bl 5 1 Al 2R ardanl seq
a2 gald O d aad 3 8.
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ald A5l eRdl auid %l uel 1 BHL 5 10 Bl 3 uedl 100 Bl 2idt Asuui
1Bl 3 1 Al gl saldl asid. suusil 3040 Horeidl Wunl 452210 ddR sl
(M uHRBY (R5AHIU) Bl oMl Hd 8, Yel-%el HIUAL 5L YEl-%El WA
€l 6. U, s % ASWHL s % WA Gl 9. 2L ouotd dadl A BB, d AHal
GURCAAL ASAHL AL ASA YL At A%AArAL LSAHL AL AR YL A 1L
ol ASALAL UHIRHIY (R5AHIU) UL A51AL.

d¥ ool & GURA Al ORIl 5L HIUHL UL Slal 69l ol sl 1 Al
geddl ooUl Yel-%el WU HdR oldlddl ¢ ed 5 UL sUL Sl AURUdlAL
ASHL T AL AUHL 2idR 9 S BAUR CURAAAL A5UHL T A AUHEL 2id2 Ay
€A M ASUHL BAMUAL Guaol 53 Ao ol Hulled woul saldl aslat
e, dell sl 1AMl 2 ag) Wi d: sald ©.
esl sélA dl...
(1) s gl MBI argRana sy dagRan-dl e (Rieel)ul salan 9.
(2) %el-%€l arqrand galddl 12 %el-%el Asdidl (Risuii-l) Gualol iy 9.
(3) sl 51 uRven (uaud Rst) 5 veel <l el Aswnl e[Rbig 5 e[ 51
2l Al 2ed 3 sl AwsHl drg Ml A gl drg el aladidl 32 didl
Aol AsAML £S5 AL AR 5 BSAVL ACAML 2Ud . 515 URL @0l sl SR
d-ll Top view(BuRall eviid 224) 2aul Avil ElRAML Hd 9. AsWHL A SIS 2
(view) et <2l 24 oloid uHal 2ugld 10.4 il

282

2usld 10.4
(4) AsuHL YHRHIY (R5QHIW) AL GUALL A1, €9 [FIZA A5 HI2 WHIRMIY (RvAHIU) 218 %

-~

28 B 21ed  olgald el diRdlds vidA uHRAR qetds A5 S0 UL sala 9.

g s

e

Yadsiad) o | weldd

— R0}

walas
UL

BN ~ETEEES)

sia%

\

. -

o3 1=~ -

AR
AU

]
A A
1 walus CiRuza
o | ),

e 2-

EE

ﬁv@:ﬁél

- QR
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1. 215 AL A5 U %R S

452l vl e UYR 5 A UsHAleAL waAlolL AL
(a) 5L 20 Ad 2 YA 2 wel-oey, 51U RauA-AlE, Yrslad-Al3ail,
suon-ylall, e{la-dldl, sides-olalell, silRza-codl, surdin-seas.
(b) +d3 S il AL *C 2l ddU wA B, Al dll 2L X7 53U Uil A e
A YA’ ol HOdl Sl Al dlal 2L Y 51U
(c) ot 22l Yasian il 250 Wl ad 21l 213l
(d) owllal 21 oo oixiel yd [Baumi 9 >uda 9 ?
(e) walis suon i wealds swouniadl 3 @0 aqw ef@w Rawl »udd 8 7
2. Als5A BAHU(WHIAHIM) @S dHIRL 49lbigel 459l €121 24 Adi-l g€l-9El aqilal
A3l saldl.
3. AWSsA WHERMM (3A) aSH dMRl oL Helddl A5l iRl dMl ol Helr«dl
g5 dd, Hvd Hsid, old(lAl 492 el
4. AR Mot 816 wel Hesell doiR dHiL 8 ugiRl A5 d Hedl AL AL Rl
galladl A5l ELRL.
104 [@l@lmé (Vertex), R (Edge) 21 s45 (Face)
(1Al 8 SR YL

«<— [Alig, (Vertex)

4—yuysds (Face) Guugj, :

S

= we Rl Al

tuzT(Edge) W AU H{Usds
el ¢ saL g 7
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>

L
5
L
o
5

BURASA M Bt olgslRil ARl dulz 2dd 8. otgsiael dudl Auddld oA sds
(Face) sSaldl Ud 9. U4, GURASA dHIM 8- 28131 sds (Faces)dl oiAdl . il
55 ol O €9 dA 4R (Edges) 5€ 0. 21l 812 Uivis €30 S1d 9, i8I 9dl Mo
89, dl [RRIGLE (Vertices) dils 2homiaidl »ud 6. 2L [QRUGE [Blg 23U €l 8. 24,

ldl 8 oigsds (Polyhedrons) syl ud

sl G{g{rétﬁ-\l (Polyhedrons) 39 sl Mg&étﬁ-\l (Polyhedrons) 2l

0.
8.

Y
L

6lgsds (Polyhedrons) Sld olgsas - ©ld ddl 8- 215120 (Non-polyhedrons) 56 ld
ssoilonall el Ul & 7 21l did Al GUsd Huslnl Sawyds wedy s A3 S sl
5 Non-polyhedrons 8+ 2415141 ds AU1E] 21ddl 8, 5412 PolyhedronsHi Hist AHAE G121
o 2419 €9, asld AULE]L Al Al {12AAL 8L ALY Bl USIR1A dH el 9L :

Yl

ANAs sy AWUSIR

ol8gT tigsas : oildd egfiel (Convex Polygons)-l vald e 531 olfddd olgsds
(Convex Polyhedrons)-l vaiét oilgdd eigsial dl o 8.

oll@gn oigsas © 639t Ligsas el

AU GGSAS © UL GleFASL EXS §AS UM §A5 1A Al d-ll es [RRIGIg
(Vertex) U2 Avil Avdl-l A5 HOdl 1A AR dd AHA ogsds (Regular
Polyhedrons) $&dldl »id €.
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A
(L AHL gsas 9. drl e35 §ds (AL olgsas Al odl el s
253U (Congruent), AHIAL 651 (Congruent) 8, usl t3s [ARIGLE (Vertices) Wil Avil
6. -l [AR1GlE (Vertices) Uz Axvil Avanl sds Qo adl Al Al A [Blg 20 A
AvaHl sds HaL ©9.) sds A O, B [blg o1 AR sds 1A 9.)
olgsAsl AL 6L WSl 8 1 (1) B (2) Ry
2§l MM 0 2L A ©

% ogsasl WAl 2 AL 21534 Congruent GlgsiBl 1A el GlLslHL sds
ARIAR 6Ly ASIA S, dd Do s 9. wal BBl (S1du Avasl oiogaial)
o518l WAl dils €l 9. walHl e3s ologuial A3 Adl sAst Bisial 2sR-L €l 9. U
Bisusiz sast s o QR (Vertex)ui ol .

ot 2 [RABLE dril widy uRedl 200 69, 204 vesielld (Hexagonal) [Bossl
Wl u2stiefl ondl Gld 6 2 Busiefla [MRARHL Wl Busia €l 9. 9 detizaily B
€l 7 21014 AR Sl €1 7 U 8 5 dudl Uikl 2issH doiiRY s ARY 84l

2qed s
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[QauRL, 221 53 21 Qi

1. 4 515 olgsas ledl sas ¢l us ?

(i) = s (i) R Busw

(i) 215 ARA >4 A1 5w

9 el sidusL Avadl sasel sigsas ol as ?
(A ¢ [UAGA 2l vl [@al.)

3. Alsiel 59 axg Bow © 7

4

(i) (ii)
uilell il gLl Ul
(iii) (iv)
Uy d6e I
4. (i) Dot 2 AousiHl o Aed 89 7
(i) MRS 2 2igil oL w8 7
5. 2 AR (ot 2L AHE Bl % Sld . Al

6. 342 (Euler)< ot «{la-l a-lsik e duil.

A=l

L
-
-
L
-
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7. 4d(Euler’s)-l ot-l Gualal 530 st Avdl dadl.

4 N\
s4s (F) ? 5 20
[@Rlsig (V)| 6 ? 12
4R (E 12 9 ?

\\ ( ) 4

8. 9 519 etgsas 10 $4s (Faces), 20 H1R (Edges) >+ 15 RIRWGIE (Vertices) €15 a% ?

. - i < - A

1. 2D i1 3D gl A4

gel-El drdil ea WA MN 2USIRIHL 2au

3D arqil gel-yel woupel gel-gel suud .

5ol Rl 5l vl gl 6,

sl (B aqRana s drgran-dl ulaul ealaqmi 2ud 8,

AsaUMl gEl-%El ARUNA Balddl Yel-YEL VI AL & ABdIAl Gualal iy 9,
A5l 51O 2gel 5 [R5 RUAHL il vadl -l

SIS 25 ASWHL WHIBHIY (R3E) AAN e 9, 5l L.

R AR Rl G

yd2 (Euler)d Yot : 516 ugL olgsds He F+ V- E =2
wul F = sas-il vl
V= [BlbigHl vl

E = fr+l qvaL
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11.1 wailas

6l AHdd lgld e 2uusl oflvll o, 5 d-l ge 5 Aludl w2 suyd g 2idr vied uRMA 4 d

250 gL ARAAL A oAl A BRSO sEHl 2 B, U BLsiRl, dorliRa, ddn adiR el [l

e suglaziidl uRBA i dasn aldard ollvll s ol GuRid dodizd sk $d Hddl

Rell 5 wdledle astsur oMl usL oflvil o el
L WSRAHL 2Bl ARl el ol AR gl uRMBMA dal astsn e Aeild a2 5

usl Bidaill Wdet s3lel
UBL AHEA, Aot Sl AOUSIR AL Bel SLSRIAL YUES0L Sl 58 2100 ULl AU sl

112 24l 52 we 53 ad

wuuel ydsindl asel w2 s Gersaidl 2l sA2L 0 As dorliR usR-AL oAkl sl ©

(duslat 11.1). %<l dous 30 *{lex 24 uglous 20 le: ©.

(i) 2 olladl w2 ouy wudd Al sa dons sedl A ? awgedl dolsS Hodal gl elailAulxl
ulRMa woaardl %32 Wil 5 % 100 Hle 9 (2 suotd ASRAL).

(ii) ollanml sedl ¥l AsAdl © 7 22
opp{laln ASEL ol adlaal e »uusl T
opflale axtsur alltaldl 32 ugal. d 600
ARA Hlex (H12) © (59 A 7).

(iii) eoflauedl ulRMAlA U »ieal drs s Hler
WOl [Ravesdl 3l ddIR AL 9. %8 4
ARA, Hl2x (H12) u e douqdl vis 94l
RiAt-e 52 9. dl 24 Uil Rl U A3
aouadl W2 sedl Aefl Rfrerdl %32 widl ? wgld 11.1

Rl Aotsn

Rdtresil 215 delall duir adl (@i assa
Risiredl 2l &ots0 = olollald gd axsn — oAl % @l U [Mde el doudal-dl d-
glo1s0 2dldl uglons 1 #lex © dal a2 el donaaidl d oot ey el
goso = (30 — 2) x (20 — 2) 1> sy, = 28 x 18 2
adl auaami 33 Rnredl deldl Aqval =

(iv) »usla 11,040 ealedt yogor, »it ol 6l doidiRa 251l el AR B, P+ W

A=l

1.5 ¥l x 2 3l & 2 oollaaiey eiusl ool s 6. otoflail aiaion [QRai astsa 2

20 4)

I 30 dl |

28l s¢l Al 5, o33 el del =

NN

UHL.
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ol SR s =
opflanizll Ritvedl 2l olle 4l wssl ouole asisn =
BRI [Gdir astso =

oA 2UUBLA S2els MY UL 1A dll 2UUEL doidiy [RaHl oflon ol s sl
glo150 uRL AL 1A, {12l 2U51RUAL 82150 Yol dle 53 U10U A8s1 Bl Ud el $2.

( )
2u5lq 2SR Y]
“ AoARA axa
b
a AR bxh
a
A - "
b
i h ; AHLdROUY ARl Sbx h
b
@ C{clﬂl axb
a\; d¥ GURLs s USRI WRMAAL A @il wsl oL ?
J
YAt $2U
(a) 1A 2uhal 2USRAA GlsAHL STl 821500 1A AU Dd Adl.
T 2
1
—14 30— 77 a2
T :
7-in1 7 Al 98 2l
14 30 — 7 ad—

(b) Guz saldal g5 usR+l wWRREQ quil.




1. 28l 2us(adl 2is 2ARA i 215 dodiRA WdR
il HY A8 AL 9, 4L i vidAHL WRE
AU . sUL vid AoAsu AR ¢l ?

Hud B 171

— 60+l — —80{l—

2. glludl SUBLsL uslml ol Hosorrl Hiusdl 214 e 8. d
Il HEAGUOML M5 il HIOL €9, U5l S elalll
[Qsurdd 9. ol [@sauraarl e T 55 wla 241 Hle: giu

dl usie-l s2d oafl2ll [AsAlaarl sd val edl adl ?
3. 2l uglanl eldiel qyoidl 21 oaflall 6. opalui-l
HAGUIOL AOIRLIRY €9 Sirl Vi QOAIRRAAL bin 6119 931 U
Ws-As AHEALUUSIR
T ol vidd 9. il
( ) 7400 opllaAl uwlHla
L ad dasa el
(dor-Ruxl dous 20
—(3.5+3.5)lex®.)

I 20 i

(@) (b)

20 4

25 4l HA,

—15 {l— i

AEN]
I 25 4l !

4. cliad@a douaaldl s dEldl s AHIACUY Agsiel O, d-dl wEl
dolls 24 Al 2 2upiBls Gl 10 Al ©. 1080 2R e oliud(Ga
BuR 1L Hqoidl dlel dousaldl sid dl sedl alel widal 7 (iaal@aiHl veud

alelefl oAl Hie ¥3RAA 3ol dlel SIS uRL BUsRHL dd sl st eL.)
5. 315 514 516 eliudlDul U Wil Yel-%sl wsIRAL viau sl 412 61y WRMxAL
W15 uRGMEL 53 8. vileL sl 4L gsdmll uReHEL M2 4R dY »idR sud

um ? (e AV 5 qcm-u uﬁem zm c=2mr, %l r qcm-{l [‘vmu £.)

— 2.8 Ail—

—2.8 Axdl—
11.3 HHC{O{:L &0 (Area of Trapezium)
ARBHL U A5 Wl 9, % WA AL s
9 (uslat 11.2 Haol). Aomi-dl i wle
clrll WLSLALAL A, 32ELs AORURYU L2 %l
A2l drl wilel AMAHA ologAledl is
%18 URYR UHIAR 9. el dell wlle |1l
AHAOL ALRSLLL AL 6. 9 M HL el
gatso Hodl asl ?
Al Huglet 11,3410 oldicl Hyo wied
A HEad s3aL.
& ] UL AB uibigr AHIAR JvUvig
EC 2321, 94l ABCE d6id12y oid 244
el ofloa oL ECD [BLsial 241512 ot ol
ZC s1evpil % susla 11,341 salde 8.

~ -

20 4l

10 []

—12 4 —

2u5(d

304l

11.2

o
o —

204l 204 a

—12 4 —
—h—

(b=c+a=30H4l)
2usld 11.3
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AECD+ o450 = £ x hx ¢ = 3 x 12 x 10 = 60 ¥

doidiRd ABCE &A50 = h x a = 12 x 20 = 240 ¥
gd, AHdoL AslL ABDE &5 = AECD+ &ssn + dotdikd ABCE< &stsn

= 60 + 240 = 300 ¥l?
BURASd ARLAZL 2L 3d Ll =4S A,

=

Ao ABDEA dns0= (L x hx o)+ (hx a)=h (S +a

) < o

h b+ a) _ GsS (AHidR el u2el)
2 2

WL AUS JAHL A, b ddl gl BUd dd ol sdl suueid, n ’2” D _ 300 {2
Ul 29l.

YU 52

1. il olde WA waL s Audor 2Us1R-1 wie 8. % 2usla 11,441 ealdd 8. 21
wied UglaHl oldlell qaol SRl ool [Aoulrd s gd U AMdoL AL

@ & ax saldl.

WXYZ &as0 =

—

b b { 2. % h =10 AHl, ¢ = 6 A¥M],
Z Y-

b =12 a4l 24 d = 4 ¥l ¢,
dl wllesil 835 GUdle 850 HEL-
A AHL A AHEOL Wl g
glolsl Hoddl L2 il GLoLHl
AWALOLL 5. Ul olle ¥yl
h(a +b)
2
ysla galotdl dloll Hadl.

W A oa A4 bl Bud

2usld 11.4

g s
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2 o AHAOL AGSIRL, AAFN HAAAL WS 2UURA AHIAR UYL ot e
AHIAROU%Y AL AotidR+] %32 USAL AHIAR oL AL AT 2 ¥l 2L
coiidmil dRlLsr, 2484, scell 2UURLA AHA6L AGHSIRLL AS0 Ui ALY 6.

YU 53U

g s
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sl il 1ot 5 sy 2l Astsn Al Gl 8. d uell 2uuLl g
Y sl wslyl 5, A astsaalell sl Hisyu €l © 7

s VUAUUSL U BUOHL BLEIL AR AMAS AGSIEL Aal orudl 5 %<l uREA
AHIL 1A U, AASUL PEL-YEL LA,

11.4 AHIL AGD51a, AsAsn

S uBL AL AP (General Quadrilateral)l 215 [Asel €1Fl dd 6 Bisiaxi
[euld 530 s 8. 2 Ad Adesiad [@QeulFd sl wEar suued e agsier
gotsul il ot Mol Gualall wd ©. ugld 11,101 e s3U.

Aqrslel ABCD astsn= (AABC+ &»51) + (AADC atsn)

(%ACX hl) (%AC x hz)

1
= 2AC (b, + hy)

1
= Sd(h, + h)

wul d = 538 ACHl douss 9.
Gewsel 1 : visla 111140 ealdal Al PQRS st dudl.
Gia : 2dl d= 5.5 A, b= 2.5 A, A= 1.5 Al

2u5(d 11.10

. AL PQRS, Aa150 = Td(h, + h)

= 2 x 55 x (2.5 + 1.5) %P
= 2 X 5.5 x 4 AP
= 11 ¥
~
WU 52U
sl wellol 1ol 5 AUy ASIEL UL A
AR % 9. dl AL, L AHIAROUY Aesieil ,
2 [asel e dad o Buseiml Reulsd s34
d o (Bsidl asisor adlyl, 2L Ad AMideNy k h
Acesiel, asen ueL Hadl Asid. g AMidR AdesiBig 7
&S0 lHAl Yo SN HAAG Yob AL A U
2usld 11.12

® 7 (dusla 11.12)

11.4.1 [Afire agrsuad assn

Aqesia 58 gl oL Brsiavi [Qoulsd sasil i uglidl U2 UL AHOU% Arsla-d
gotsu it Yot Hadl wslal susld 11,1340 Aesiol ABCD 15 AHoUy AQsial 9.
aell ddl [asel Aselloan dot wnlgonrs ual.

AHOUY AsRL &850 = (AACD+, &a151) + (AABC+ &tsm)
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(%xACxOD) + (%xACxOB) D c

= 2AC(OD + OB) =3 AC x BD (~ OD + OB = BD)
A B

-~

_ l . _ N _
= 2d1 X d2 Ul dl_ AC - d2— BD ¢9. Q,ué[a 11.13

UM, AHOUY AR AAASN Al oA [AsEiHL dRusIRd, 28, S B,

N

BEl2EL 2 ¢ s Moy Al [Aseidl dons 10 Al 214 8.2 Al G dl dsg
&oAsul QllHl.

Bie : uuoUgy AHIRL Astsu =

{3 el B desl 5 2
ALLS UL W C :
&oAsu Q. 43
(sl 11.14) )
: D 4 3 |
(i) (11) (iii)
2usld 11.14

11.5 tigsiag aasn

2R, FH AesiA Bisieiul adail- d- axsa sl aslat o, d o uglisdl Gudlol
s34 otgsial (Polygon) a=su Hodll asid &, <A »udd 2ugld 11.15 24 11164
galdal UASIEAL Ax50 Haddl M2 WAel S3. B C

E
2u5(d 11.16
2usld 11.15 15 (A58 AD i drtl uR 6L ciot BF 2t CG{l 2t 52418l
[Gsel AC A ADHL -l 304 Y25 a5l ABCDER AR ol il asid 0. del, dasieal
ABCDEA »2 Bsieiiil adl asiua 8. dsll  ABCDE< &2450 = si2s512 (518l AFB+ &otsn + u1dol
U251 ABCDE- 8250 = AABCiaisn  BFGC &atsu + stesial (Bisiel CGD, &stsu + AAED
+ AACD-, @250 + AAED+| &ots0 2dl.  &AAs0 (1l AHeo Agesiel BFGCl AuidR 6ol »lowil.)
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YU $3U

(i) DAl 2usld 111740 saldar cigsiadl astsn Haddl 42 da Bisial 24 dudol

Aesial [AeulFd . .
/()/\
N Q
| ‘\//
2usld 11.17

otgs1el EFGHIAL #is [asel FI 8. o151l MNOPQR-L 15 (458l NQ 9.
(i) ctgsieL ABCDER »iuslt 11,181 eallel 36t gel-2el ol [Aeulsd s2euHi 21de
9. 216l AD = 8 AHl, AH = 6 A4, AG = 4 A4, AF = 3 a3l 21 dot BF = 2 A,
CH = 3 3l, EG = 2.5 A3l 2Uuadil 204 6 dl elgslle axso Uikl

6518 ABCDE+, &a4s0 =

AAFBL 8AS0 + oo

AAFB 82459 = 1 x AF x BF =

% X 3 X 2 = e

ador aqdlel FBCH Aniso = FH x S AR 11,18
-3 x (2;’3) (FH = AH — AF)

ACHD, 82150 = £ x HD x CH = w.ooooccre

AADE+ @250 = 2 x AD x GE = w.ooovcrsrrcre

ddll, elgsiel ABCDE, &oASU = .ovcrverceicnenne
(ifi) sl 11,1940 salde eig sl MNOPQRHL A
MP = 9 A+l, MD = 7 a3, MC = 6 3+l, MB = 4
Al 24l MA = 2 A Sl dl st sieud astsa il 28R 11.19
NA, OC, QD i RB 21 [a58l MP4 gikdl dol 9.
GELERBLT 1205 UHAOL USRAL AR AASN 480 H12 69, AL vidRr{l AHIAR 6L Az AR
153122 €9 vt AHIdR ogAMIAL A5+l cdeits 20 3122 £ L 6{l o Ui euy =il cdeitsS ekl
Bie : uudol Agrsia-dl Aniaz ouogiHigl sl dons a = 20 ez A ol wuidR
ouyeil dolls b HIl v Al azdd dot vid A= 15 HleR 8.
BURAd AHCOL ViR &g = 480 {le? uud 6.

Aucord AxAs0 = Th(a + b)

L 15 x (20 + b)

w480 = 5

. 480x2
T =20 +5b

SL64=20+b b =44 Her
el Aol sl ol AHidR ouy 44 el sl
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BELS2BL 2+ uMouy AQRSIRL &ntsul 240 A B 2 dxl 25 [Asel-l dous 16 Al
8 dl oflen [Qsell dousd ekl
Gia : w3 s [seldl douws d = 16 Bl & i1 ofln [seidl dous d, 8.

. d2

e Aoy ARSI Az = 14,
. -1
. 240 = 2><16><d2
240x2 _
6~ %
Ld, =30 Al

Aol Agesianl oflo [asei-l dowsS 30 2l B,

Gews2ul 3 = 2usla 11.20410 s aHeuy sl MNOPQR eaidd 6, d-ll eds oy
5 Al dous-l ©. 2usla 11.2131 sailen Yool e 2t RlgHl 20 uesein gel-9el
Ad [AeulFd 53 O, 2L ol Usl-AL [Aeumrl 2R Y2sle assn qadl.

N
M, o
R P
g0 — Q
2usld 11.20 2§l 2ld Rlga-l A

2usla 11.21
Gie @ 2t gl s3e [Acia WIS : )
A1 H25 Aol dlaiell NQ sl uasioid 6 253y aHdol Aqaiemi Roulsd
2R, dil A sl wesia sidl ugl NQuial awolld waus 531 asl (il »usla |

11.22). ¢d uudol MNQR+ 85150 = 4 x (”;5) =2 x 16 = 32 A4 —
HH|
: I”‘“ dedl, uesiel MNOPQR- &21su = 2 x 32 = 64 A2 o
M o Rlgruat 536 nes@r [Qeuo ywal : wug 11.22
sal sl 11.2340 AMNO 214 ARPQ 2153y Bsiar 9. d-
R PIMM Rialbiguidl eRdl dodl doud 3 A4l © (sugla 11.23).
Q 2L ol Busieiinl sl sisollon U Yl is3udisdl asisil
530 s,
2usla 11.23 . ! N
AMNOT, &2 = - x 8 x 3 = 12 4’

ARPQ+, &250 = 12 341> (+ AMNO 211 ARPQ 21534 (S8l ©.)
doidlRM MOPR+, @250 = 8 x 5 = 40 A?
gd w258l MNOPQR &as0 = 40 + 12 + 12 = 64 A3

. - 12 S

1. s oarl Bur Axdd W2y Adol Agesinl 2UsRe 8. % d{l AHIdR
oAl dollsS 1322 24 1.2 Hl2R 1d el AHIdR el a2l
ol 0.8+l ld, dl i eoiel i Wldid a1 Ml
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44

114

sh
l

28 Al

N N

s AUAOL AQesiol aAsn 34 AH2 & 2 d-l Glaug 4 Al 9. 21 Axdot-l

AuiARongAMI] s o1yl dowsS 10 AL 8, dl dril oiley AHid ouy=il dows allbl.

3. s AHAOL AP 2SR YidR ABCD-L

Al dontsS 120 ez €9. o BC = 48 ez,

CD = 17 Hle: 24 AD = 40 *le: ¢, dl

L1 c L Vidar] Aso sl A€l sug AB 3L AHidR
ollg AD A4 BC uR dot 6,

s AL HSRAL videl (sl dousS

24 H{lez © e ousldl oL RAbiguizl »u 134

[sel u dal do 8 ¥l2 »t 13 Hler 8 2441

dl Vi Astsl olldl, 8+

A D

25 AMoUy AgesiaHl (sl dons 7.5 Al w4 12 Al
25 AHOUY AQesla-l Uy 5 AL 24 A8 4.8 AL B, dl o
[asei-l dows 8 AHl €l dl ollon [@sell dons Hadl,
SIS Usirrl GAdA@AMl Aoy Agesia sl 3000 dlelxil dode 9.
algl-l [Asei-l cdonsS 45 A3 24 30 AL 9. ¢d 215 ARA Hl2r dlgl vl vl
ol 4 30Ul Gl dl AU eliudDdAl Algl adiaal 2 sedl wal 49l ?

HiS A5 AHAOL ARSI U517, MR wleal Rl

(VA9
2
a
o1
X
v
L
S
=l
<

o1
0
pV
O
S
=l
<
K
&
o

$29 B, il Vel gl drsell ol B, Wl ——————
dseil ol UHIAR 2t HdRML ouBRIL 9. 8 %L,m \
L Bdrsd A5 10,500 H12 €l 247 Uzl y

B R i i i e i i i e T R N

- e e e e e e e e e e e -

AUIAR UL a2 dot »idr 100 ¥ler dl  TTTT

R e
P R e e e e I

dl vl 4l dzsl ougii-l dous 2l gl
9. onildall Gu Glsd s ledl 8. d-il GUL AUdA AHOUY ARS8
st 0. % vislani ealdd 9. 21 esielly Audard astsn gkl
10. 215 UAseL sl ol © % 2uslidl salde 9. 2 YaAsR disn

glldal Wie il 2 sladt gel-gel Ad dasen [@alad s 9.

u v u ul 1

walldn s34 [Acuw sl s3a [Qeuw-

ord Jd sl [Aacuog-l ueeal oroflauld Axs0 HL 9L dH AL UAsE-
gatsu glaldl 2 51 A oicidl ast o ?

1. 2usladl odidd el 34l oieiRel W w24 A4l x 28 Al & i
vigasil wRd MU si 16 A3l x 20 AL B, ¢d Bl FUAL AR 2sdiedl
NS AHIL €l dl FHAL UAS 258l AAsA kL.

11.6 g+ 2USIR

ot el siusl ollvil gsa el 5 [g-ulRausla suslaziia, B-uRausla 2usie-
5As AU U0l ASA O, AR YHHL HoUud UL ¥ 8-l 2Us1R (Solid Shape)-il
et il d visld 11.2440 galda 8 o gl
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ol (i)
sas(dudl)
SRR AOUSIR 2 c] BRI

2usld 11.24

sl 11.2431 salidel Seets us4l 6 3 6l az is3u qudl 2uddl 8. s

N

AHs0L 5. sUL EAHl ol AWl 2is3u 9 7 d el

2§ed 52U

dolEA VSR 6611

O QLS 6511
gl quidl doiy 9
il AHAAA]L AWEL o
2530 . Al Y ]
IR TR T S
530 AUEl 2ude o ]
Sl 69, O

oz/eis (Top)

AOUSIR 061

\ ~ ol 9 quiel
z:ts q(sama"l i > ARY, 9 VA,
\OL\C{C\}ULLS\R scif AsAWS qéuuglq_ 21534 69,
8 % % 53U 9. . .
Al 2 aisal
2As3u 9.

d[alg'/lll?ﬁ (Base)
gd 25 Ul s Yel-YEl MLSIRAL olL/uilvil dl. d-il 835 Audld siuld 1400 3.
€35 AULELAL s adis s AUl 2sollan Gur vl vidl 52 5 dil
AU B 5 54 7 s Al A AuA AL AvAL AL e dHIRE dLRRIL Uil
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28l 11.26
(dorgrila
AUUSLR)

g i ~flaAsl ouotdl u i s ?

AdlLsIRAL AL (A1534) Adousiz oin quidl e
ol AHIdR & (sl 11.26 %1L).

8d 2L adousik Awdl uR A sd s,
AQUUSIR AUEIAL HoUErgel FBLécdl TuUvls 2R dot -
8. Al A0SR dogTld AoUsIR S O, UL sl 11.27
oL L USIRAL % AUsIRsAl e s39. e, (>0 s doigdla
sl 11.2740 aliedl Yaroinil oflet usisil Aousi Aasiz «i#l.)

ugl gl 89, % dolgdly Aousi Al

I . i 4 -«

2] 20Ul 20U 2UUAL BALSRA ANULSR S84l A 56 Vg © 7

11.7 ad, doE-d 24 A0l Yssst (Yl astsn)
SR, WHSL A Ul sual il 11,2840 saidal A GRS dotad, AHEd
e AOUSIRA L 53 69,

~ >

2usld 11.28

8 dvil B oRldl WAt 52 9 5 5180 ay, 3oL sdl 7 el dun Al U D 5 udls
ooile yroso slltaial avil sl s3 asl 3 S8 ay L sul B,

$A YRSOL HAAAL HIZ BALSIRAL €35 AU 8250 WAL Sl dedl AU S
U, U5 URL Bl U5, Yr50L el AULEAL AASULAL UL F2d, €l 8. il tloide
QY e Sl SUURL s Ul s s3AA £35 AR (A UL AHDA.
11.7.1 doa

w3 vl 11.2940 saied
Wl e (guue)+ vy duizl
WA 8. ¢d AL vl (elisi ) 2usld
11,3040 eallodl Hosor sl i vilel
Al €25 sl s il ¥y
s ol AR ANAA Ul AUl

sd el g5 ouysl dous
galldl. 2uudl nslal el b doted 2 —I——b 7
(Cuboid)Hi ~8L %18 53U ol v ——
5Us Wt Al 8. vl UAs sdsT
o150 Haddl UL sUL Youel
Gualal 53 uslel ?
S0 (6llsA)AL 825 ses AAsn Madl gat s Hudl, Ul ellut ¢l 5, dotassd
56 8050 = &S0 T + &A50 TT + astsn 111 + &xsn IV + &xsn V + énsn VI
=hxD)+BxD+Bxh)+Ixh+(xh+(xb)

——
1I

—=b—+—1—i—b— _

I my| v ( v |ha

S —
———ioH

{ Eado(zauze)

2usld 11.29 2usld 11.30
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el e AWl &8s = 2[(h x ) + (b x h) + (b x )] = 2(Ib + bh + h)
oul, h, [ Al b 2sH dotansl GRS, doud 2 uglous 8. ¢d @ GuRisd
galda gooltel G, dolls 2a udlousS s12: 20 A, 15 Al 244 10 A4 S dL,
56 Yrsol = 2[(20 x 15) + (20 x 10) + (10 x 15)]
= 2(300 + 200 + 150) = 1300 AlRuHle A,

YU 52

sl 11.3141 eulda dotade ywssa Al

Iz Al
&%&" %\

P—od " gl 1131 eaa
o doEs-l s4 Ywsudidl ddl dl@dl A Guz-l 913

AU ole Sl dottn-l AR glalds s Wik
A 69, Gel d3LS diL ¥ dotEe SR UL
oisl 91, drll AR gl e Astsn, - wiA
Yrwssnl (viedl dotEd-d @asu) dils alavud 9
il sl 11.32. U, dolen-l usd Ywso
(lateral surface area) 2(h x [ + b x h) ¥l q\ll'z.h

-~

2h(l + b) 4% Hadl usH O, 2usld 11.32

g s

I . i =2 <
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1172 8 (Cube)

g s

YU 53U
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[QauRL, a2l 51 241 quil

11.7.3 0sIR
8L %2dl Aousiz (Cylinder) %Sl 1ol dHigl Mlel eloidl dotgdly Aousiz iy 9.
BelgRel dls soull, ojorol (Al widu), eystarse, wiRll-l wsu adiz.

g s

'i

ANNENEE
HEEENENE

|
[




184 W 2Wdia

iy YA S

sl 114140 ealdal sk 54 yrsa sl

14 Al

) LR (N

2usld 11.41

I -2, < +4 >t <

GELERBL 4 ¢ s HoelaR dotadt sUsie 6, dd etell 1w 80 A3l x 30 Al x 40
AL 9. 8 2L H9ellaRAL dAlddL U, ot 6l UR, 2 HLe9elaRsAl Uil il u
51910 @dLgall 8 dl ASAL S0, AxAsoL L.
Bid cHdlaadl dousS (7)) = 80 Al

Hioe(lar-Al uglous (b) = 30 AHl
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Hieoellar-dl Gl (h) = 40 A 9.
ael dlfaie @xsn = I x b= 80 x 30 = 2400 A1
25 AO (1Y) AASN = b x b= 30 x 40 = 1200 AH?
WAL s aAs0 =[x h= 80 x 40 = 3200 Al?
WA BASUL = IR AASOL + WIEIULHL SAsT EASN
+ (2 x 6U% UL sAsT AAAsu)
= 2400 + 3200 + (2 x 1200) = 8000 41>
dell 33 20{l s astsa 8000 AH? ©.
BELERBL 5 ¢ w5 dotrn U5 U et u 12 H{l x 8 3l x 4 +{l &, >R
Al el 5 30a0 Wl Alea Hlex i dl 2Rl R €lad Dlaiddl wal dedl
gl ? 2 oAl 040l 9dt wel 20t dl F91 suaalAl WA Secl wdl ?
Bia : QL 3 2R dous (1) = 12 #lex
2401 uglonsS (b) = 8 ler
21401 Gl () = 4 Hlex
R4 AR glata assn = ctindBaddl uRMd x iRl Glus
=2 (l+b)xh
=2(12 +8) x 4
=2 x 20 x 4 = 160 3le:?

¢d 391 sudcAl Wil 5 3[uyHle? ©.
gl 2R84l 02 €laid il ga v = 160 x 5 = 800 3[UuL
9 &As =1 x b =12 x § = 96 {2
H2 9de DAL WA = 96 x 5 = 480 3Mual
dell w040 Foradl 564 v = AR glaid 3a1alel WA + 9d 391alrdlL w2
= 800 + 480 = % 1280
BELSBL 6 @ s HAML 24 A0SR ML 8. 835 il Bl 28 Al i
GlausS 4 Hlex 9. 8 3L uld ARA Hlearl enagl o4l el asuuidlq
AL g WA Sedl Y3l ?
B3a : A0SR el Bl = 28 Al = 0.28 e
A0SR -l GRS = 4 e
gd, AUsIL sl aAsn = 2nrh

adetell asuuidld Aatsa =2 x 2 x 028 x 4 = 7.04 2

lal 24 defil asAuiEly axsn = 7.04 x 24 = 168.96 2
aufl, 1 #{lex? o154 WAl W =z 8§ .
gl 168.96 232 3olsid s2all 56 vl = 168.96 x 8 = T 1351.68
BElSRRL 7 : A5 AousiRl Bl 7 A4l 2 gt Yresn 968 A2 69, dl a-l Gl 2l
B3a : QR 3 Aousizl Gl =k 9.
Aousizedl Bl = r = 7 Al
AoUsR, g4 Y%sol = 2nr (h+ 7)

- 968 =2x%x7(h+7)

ooho =15 AHl wA.
2d 5 oSl GlusS 15 AHl ¢l
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10.

oyl uuglaul ol Huoidl

NN . NN 50 s
HIUAL 215 dolErd 2 25 AHEA ;o a )
B, L oA oounil sl goull > ﬁ'}n a0

. o N —
oplactdl ALl AHAL auel ? F— 60 il —i 50 2l

a) (b) .
80 Al x 48 Al x 24 Al Hu "RAdl 2(?13 Yesu dlgusil-l susedl aisai-l

8 (592 otrlladld ©). 2udl 100 Yeduq alsal e 96 Al udlus Huddl
dlsuwolldl Sedl stusgel 32 usal ?

s vial el ouyd WY WHl 5 %

o

ywssul 600 A Sl ?

R 14l x 23 x 1.5 L iyl Wl @[@ L5
org122ll 231 5201, %L A8l Uel-L Al Ricid l'm\"_T
olel+{l d2s 61 391 541 €, dl A8l Seal

Yrssi 391 541 a7

YRuA 215 dotad sl 2L Elald 2 9de 291 9 ol donsS, ueions
i Gl sH: 15 ML, 10 Hl 2t 7 |l 9. 391l wLs gooumigl 100 Hle:? &stsn
U 391 531 ASIAL €, dl BRI 1AL HIZ S2dl o6l 391 AdA 7

el oy Ul 2uslaidL ol T
0611 585 Zld AHLA O 2 565 I 25 730 Iwﬂ
oflonell el ud €9 7 sul ool wiA i 7
Yol qlL g9l 7 —7 Rl = Fr=rih

7 Hlez Biasl i 3 Hlex Glaudauoll 2is o ousiz elsl tigrl udAHigl sisiidai
e 9, i 2lsld oidladl e Hidd $2¢ udz A ?

s viedl sl asrule adsa 4224 A2 9. A Aousik d-l Gl
dxsgl stuld 33 Al Sl 215 dotliRA isiHL Ale oMl 214 €9, dl
dodiRy, ledl wRRila Aadl.

25 Relldl S5 Auid AHAG 59 HI2 AGRA
750 avid uRGMBL 59 U 6. ¢d %
AeR-l A 84 A3l 24 uglous 1 Hlex
€l dl Wl &stsn 2l

s Surl del g4 AR Al AnLsIR
soouMl Us 53 8 drll R 14 Al iq
Glars 20 Al €. oyl 2uslaHi ol
wHl Susl sooiiedl asuulél u2 s dod
aoud 8. A v Ao sl ol e
dlfay oAl 2 Al g2 Alewsami vuag
€l dl Ao &a1sn gkl




- B 187

11.8 ad, dola i ISR Brst/se
Brufzauely sus2 gkl 8udl @oud d a-suyse (Volume) séadi »ud €. dizl
AURAL Rl 8asn(se)dl ueumel sadl Haet s GelgRl dils, M
Avial soilenl gsol AuuHRML d R4 450 AR 8. 3L g Ad dHRL UlRdolisie
grisol dul Al WA 5 e85 060-L 84501 sl qrIR 8. g i 2Auiell 519 wal argqd
gl Hl asl oL ?

dle 52U 5 28l 519wl AUl astsu Hoaal
He AU Fal 2ARA sHIAL BUALL Sl gl
1l SUUBL BALSIR Ry 8rs0L Holdal HIE 8t 5L
Gualol 539 s1R9 5 ad 2 ARl AR YAnYsd sl
ISR O, (FH AUEIAL 8250l MY M2 A1 ALl
qrlz A[AHYSA USIR O, dH Bl dqld Bsn Hudl
We adt i ALl ay AAUYSd 8t 2SR 9.)

SIS WL A ueldd ddsul Hodal W2 el

NN N

%-c BeAlslR AR A AsHL (Aol sl 32
Ul . vl 11,4240 U €35 8 2SR+ AAs0 2usld 11.42
8 el sH B, 2L ool [AA1R0.

1] 2043 5L WS 5, 515 ULl Sl (B ) vl BAS0 MMl HIZ UL dHL EAL Bt 2L5HL ARl 91,

1 g Al = 1Al x 1Al x 1 A4l = 1 as?
1 a-d +{lex =14 x 14dlx 1dl=14"°
= e Q3
1 ad [Melldler = 1 Ml x 1 Bl x 1 @RHL = 1 Bl
=0.1 44l x 0.1 Al x 0.1 Al = ovevevrren, Q3

gl 2UULL 8, dotEr i AOUSIRAL BAga Hoddl Hiedl Yot el Aldl, €l
gel GU 215 widl i Al 33
11.8.1 doias
AHI U512 (UAS Bl ol AHIA) Sl ddl 36 AHEA Al 2 dHA AARd dlsdl
Aottt (Cuboid) oi-tldl. dH ldl 88l UslRAL dolte oidlel asl ol dlA-dl sies Gur
(212 530 vudl eouL YRl

4 . . )
N dous | uswud [ Qs | Ixbxh=V
) 12 3 1 12x3 x1=36
%] T
o
12 B ———— 3
(ii) T
2
1
3/‘
6 :I/
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(iii)

(iv) I

- J
Gur ealdd welHi di 9 Ay ?
A10{LL €5 Aote oirilaaldl UYL 36 arirl Gudlol 53¢ 69, dell wels dotare
IF s um 36t Sisat adl. o1 Guzic 35 cotrt 8e50 dx{l dous, Uslous i

———"" Gausa RIS AHLA 69, L HLUBL A A, tiell, Bul Belg8irL HUHIR
2Bl 56l wslA 5, doter asu = dols x uglous x QS =7x b x h
2L GURAA UL SIS ot drgi = doterel SLHIR 850 x Gl wal sél aslat
SRR 5 [ x b = colEn-l MR &5 Ay ©.

g 5A

s 5101 Al 2 de &A2AS0L HUL 2
Wl % ofle s a4 stolo-l vl
adudl s dotrst o-dl (Gusla 11.43 .@ —
woror). 2L vl Glas =l st I—
aatsn v awl-l Glus-l dpausie
ued Hadl dotd- arsn el

L UGl uell 2uusl wd uRl sél wSlA 5 Add adsn 2L UsIR uRL Hadl
astd, (% S st 212+ 2ld (TOP) 2t 2142 (BASE) 21534 €ld 2t 2is0iloaq

AHIAR €14 dl a-dl @R/Buzl (EDGE), 20412 (BASE ) dot ¢2l.) ¥+ st dllddl
L Al GuaAldl 53 wstdl Sl ddl argil oueld di [l wst oL ?

Ydl $3U

Al 2usla 11.4400 galdal cotare ansn ol

)
S
~F s A 24 92

2usld 11.44

2usld 11.43

5(1
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11.8.2 -
4l (Cube) ¥ GolEAl 15 VI USIR 9. ¥4l [ = b = h Adl Sy,

-~

2ed 5 udd ads =[x [ x [ = P

Ydt S

Al 2uhal 8HHL 8As0 ML
(a) 4 Al oumganoll ©x

g 52U

(b) 1.5 2z ougaol 8-

_l?mta“t, QAL $A A AVl

11.8.3 vusR

2usl elal Slo 5 doEdd dds0 ddl sl A=(Ixb)xh
go1s0l i el GladHL deusiz gl Hoadl asid ©. 9 [n
2L % Ad UL ANsRL ans Hadl aslu ? — /o <«b~7
ol 4 AousiR (Cylinder)Hl 4@l 215 »1H12 (Base) AEA

24 94 (Top) €ld 8, % is6lload 21534 it AHIdR
Sl 69, dolEd-dl U ANLSIRAL AsAUEL Al 2ALHRA

dol €l 6. I
dell, dotanis uds0 = s Axsn x Gl A = (nrh)h I
= (I x b) x h = Ibh
AR, drstl= BUHIR Antsol x Gl WHRY AASN = 7
=nrtx h = nrh

Ydt S

Al AL AALSIRAL 8As Hodl,

(i) 730 (i) [n
2
—10 A+ — J_

50 {1
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11.9 a5 ($8) 2 AUl

L 6L AGEIML AU dslad el

(a) 5165 axq gl 8AAdl Uil Wald 850 (58 - Volume) 5¢ 9.

(b) 815 armml ol wstdl aql st d el addl (Capacity) se™l 2d €.

Ay 2o S5 well Ml wigAl i 100 AP well ¢l asd d d g
ARl aHdl 100 A €.

gucl (el wer Al astd o, (@2 2 AL Al oot 2old ¢ ¢
1 el = 1 a3, 1 (@22 = 1000 a3, 2um, 1 {lex? = 1000000 A+ = 1000 (&2
Gelg20l 8 ¢ g ansn 275 A v R &AAsa 25 A ld, Al doan-l G
wadl.

Bid @ dolEnd ansn = MR AAsn x Gl

dotrr unsn

adl dotgqdl Qs = AR, As

_ 215 _ 3
= 52 = 11 ¥l

2L 2d dotansl Glaud 11 Al .
GELSRBL 9 1 Bis colrrd U5 el 9. dr WU = 60 Hl x 40 H{l x 30 H{l 8. 2u
olletisil iex 0.8 H{lP ansol ugaAdl Sedl ool Avl wstd ?
B3q : s ool Arisn = 0.8 D
dAleln, adsn = 60 x 40 x 30 = 72000 1

dAlelde AN g - 40

oleell viez vl st a1 d goonsdl v = - = 02930 290,000

2§11 Fd, dleltH-l 2ie 90,000 o6l ALl wsLal.
Gelg2rl 10 : 14 A4l ueus vpadl s04 d-dl usioud-l [zl awlld 20 A+l
Brosiaioll 215 Aousi2 eislacldil »Ud 9, dl dousiad adsn Hadl (gl 2uglt 11.45).

(el 7+l Bua % &dl.)

B5a @ s -l oSl Raumigl ol cawolld Ansiz sidldcmi >udd 8, dell
sl YSIOUS ANl GRS 2l 2 24l Asusiel Bisdl 20 A+ ©.

20 A
14 23l 14 3
2usld 11.45
Aousi-l Gl (h) = 14 Al
Brga(r) = 20 A+l
AUSIRY, 80 =V = 7tk

- % x 20 x 20 x 14 = 17600 A3
del AousiRd ansn 17600 Al sl



A i 191

N

Gergel 11 : 11 A3l x 4 A3l WY HAAdL Qo1 S1LAL 2531 A50{lo U2 Ay - ¢ d
A aollA 4 Al GlaLSL 245 A0SR otrladlHl U 69, dl AL AoUsl Argo WML
Bsa : wdl sl dons AsusIRAL UL URE ol i © A sL0l oS 2
Aoustel GRS ol o 6.

QL 5 sl Bl = 7 2 Gl = 7 9.

AoLsiAL UL WRY 2nr = 11

2x%xr=11

adl, r = 2 Al ad.
AUSIR aAsoL (v) = h
-2 1.1 — SEE
== X 4><4x4—38.52{"ﬂ

dell dousid adsn 38.5 a-d Al O,

1. e 25 Aousiz 2isl 2uta o, 12 20Ul 59 WRRARHL 3
di Y50 andall w5 URRAMHL d- arsa wadsil ?
(1) Aousiz aislHl sed el vil asial, d 455l s2al Hie.
(i) stz 2isld wrex s2aL w2 o33l Furedl ddli-l
AV ALl
(iii) oustz eislil @en weilyl well-l sedl -l aisli
a9l ardl AvaL oAl
2. oS Al eu 7 Al 21 Gl 14 A+l 9. Aousiz
Bl i 14 A4 24, Gl 7 A3l 9. apatd?l sul
QIR i 56l 25l 5 BURAL 6L AsUSIRHIY] 5L Brsal
QIR S8 7 6i AR, 8sn HAd] dMIRL FAlot
AS5IAL 21 GURAA 2L URL AL S aY 850 HAAdl g
AOUSIRL Y650 URL AR €9 7 A
3. s dotasdl 2RI a0 180 AH1? & i d-
gasor 900 A 09, dl d dotaqsdl Glaus sl

-~

4. s dotand Wy 60 AHL x 54 AL x 30 Al O, 2 dotEnsl 2iex 6 Al
OO 2@l il B AVl st ?

5. % ads0 1.54 {1 e del UL U 140 Al ¢l Aal Aousil Glus
wadl,

6. s g o2 Aousiz 8, %l Bl 1.5 e
e dotls 7 H{le 9. i 2esul sedl [der g
@2l asel ?

7. o sl adHl g5 ol ouell 30 Al »ud dl
(i) drl yrssmi sedl oLl aHIRl Yl ?
(i) d-ll a-snmi Sedl el qsIl 49l ?
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8. 5 g4l »iex 60 (e wwll uli Ml+e- exell

Ul 9.l o unsn 108 HP S, dl 2l g
wiellell Aysl @Al 32dl sals @l ?

I - i - A

1. Axdel Agsiard astsn

(i)  Acolrd 850 = AHIAR oL AOLSBUAL ARALOU, 248, x AUl A2 ot HdR
(i) AuHony AgssEd dAsn = [Aselial dpusiad 184

2. ¥ls U YNEN dell SASIL EASUrL AU %2, U .

3. dotar ywso = 2(lb + bh + hi)

|
|

geir Yresul = 6/ 7
. — —
AUUSIRL YWs0 = 2nr (r + h) o
4. 515 uRL En g gl AAA] UL HGLA d BALSIR BHS0 Sl 2Ud 8. f
5. doard 4dso = [ x b x h %
S —_—
e arso = P T CELR]
h
AUSIRY, 84S0 = mrth l
6. (i) 13+ =1 el F=r—
UUSIR

(ii) 1 (@ex = 1000 A?

(iii) 1 «® = 1000000 A+1> = 1000 (&=




12.1 wralas

g du onel o ?

lj_%Cﬂ';L; a2+ 5,970,000,000,000,000,000,000,000 (531

€. BOUGHL HIRRIHL HIULL edl 3 YsAl 1A 5 21

usiel Hidl Avdipiia aldisHl Guylal s34 sdl Ad

iy wadel avll asi. eld., 5.97 x 102 (3L

248 10744 10l 24 B 14 il

8L ellol ol 52° =2 x 2 x 2 x 2 x 2

Ay 2" =2 X2 X2X2X .x2x2 .. (mavd)
Aledl gd 22 o YU SlHL GRAGR B d WM.

122 0 uals wdis

dd 2wl 9L 5 102 = 10 x 10 = 100
(- — 100
10" = 10 = 10
10°=1= 1
10 aldlsHl 14 82ldl adi,
10t =7 Hey HUBHL Hed sl
Guasil BaiA 24010 atiRdi & Fed W B,
- L
107 =10
p p PR S -1 1 _ 1 _ 1
d % 2d 10‘10'10‘10X10‘1oo—102
3 - L - L _ _1 _ 1
107 =756 = 10= 766 X 10 = 7000 = 753

U5

12

Bldis 3

10°

LR 3

olledlyl :
10 -l 24 =d

el eldls
821 Yalls 9.
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AlAAl ueld 2L Al
3P¥F=3x3x3=27

3?=3x3=9= 2

1 _ 9
3 =3 = 3
0_ 1= 3
3=1= 3
BuaHl Yeld dl ¢l s 3,
1 _ 1 .21
30 =1+3= 3
2 1 L, _ 1 _ 1
3 = 3 3= 3x3 32
3 = 32 =3 32 X 3 3
2L UHISL ¢ dR 22 < e il wsal.
il
102 = - »al 102 = -5
10 10
100 = L 10°= L
10 10
32 = L 2l 32 = L qd3
3? 372

i, 208 5] sl 5 siuel AR Yalls AvUL g MR, a "= | Ul m s Hn

QE |_

316 . o moD N N
UBLLS AVUL 9. g ™ Al a"+l Ad 9.

[Fafalfd Avai-l d 2Ll

(i) 2* (i) 10° (iii) 77 (iv) 5° (v) 1010
5 2Uusl 1425 %ol Avai [qd aid 2a30 duidl oflva ¢l

Fu 5, 1425 =1 x 10° + 4 x 102 + 2 x 10" + 5 x 10°

e, ¢ U8l 1425.367 [Agd a3l 3dl d salad d s,

2], 1425.36= 1 x 1000 + 4 x 100 + 2 X 10 + 5 x 1 + =& + 1o

=1x10°+4%x102+2x 10"+ 5% 10°+ 3 x 10! + 6 x 10°

1 _ 1 » _ L 1
UYe SQ\l 100 =15, 10 = T2 = 150

fl2AAl qvaiiia [gd @3u el
(i) 1025.63 (i) 1256.249
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123 edis-i [Raxl

-~

8L el Slal 3, siSuRl AR Yells Al a M2, @ X " = d” T " U, m @A
n ULslds vl ©. 9 2L My w8l didls Hie ul @y uedl 7 Adl AHDA.

(i) 2uudl wellat ¢l %

SUSURL 9T AV g HIZ g "=

3 1 o092 o 1 m
2 = 2—3 WA 2 = 2—2 a
3 93 2 _ 1 1 _ 1
Hie 2° X 2 _2—3><2—2_23X22_ 3+2
(i) (=3)* x (=3)* adi,
(-=3)* x (-3) = 14 X 13
(=3 (=3
= 14+3 (=3) —
3) HiRel 7 i di weu 53 Ysul
(iii) ¢a 5% x 5% w2 6l 3 sduel 9z yals vl
1 54 " a"
2 4 _ 4 _ _ g4 _ N . N
XY= g XY= g =50 a2 Gr=a™" Ul om A
(iv) eq, (=5)* x (=5)* e, n mél?ta vl & A m > n
(=5)* x (=52 = —L_ x (=5) _ & 5)° _ 1
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